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Question Number : 1 Question Id : 630680243878 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Government of India signed the Investment Incentive Agreement in May, 2022 with which of the following countries?
Options :

1. & France

2. % United States of America
3. % Russia
4. & Germany

Question Number : 1 Question Id : 630680243878 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

30,2022 &3 1808 O BIOS DERVS (P& )oTE 20000 a7Seh (206520 HOHE0 TRoE?
Options :

1. % (5P

2. ¥ @085 S0 T°aren

3. % Oarg

4. % 2350

Question Number : 2 Question Id : 630680243879 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who of the following NASA astronauts will be the first woman to go around the Moon?
Options :

1. % Jessica Meir

2. & Kathleen Rubins

3. & Anne McClain

4. ¥ Christina Koch

Question Number : 2 Question Id : 630680243879 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&3 (808 NASA S%e0MTS0OE t50(C0R THER® BT T RNEBVCIES e DIB0?
Options :

1. % )5

2. % SPOO ErDS)

3. % ©J) DSBS

4. ¢ 18 &8

Question Number : 3 Question Id : 630680243880 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of ‘Country — President’ is/are correctly matched as of April 30, 2023?
I. Cuba — Miguel Diaz-Canel
II. Sri Lanka — Ranil Wickremesinghe

Options :

1. % OnlyI

2. % Only IT

3. % Both I and II
4. % Neither I nor II

Question Number : 3 Question Id : 630680243880 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

&3 (808 & ‘T30 — @SB’ © 2365 DD 30,2023 7¢I OB 235 IrAFod?
1. 807525 - SO AT -5° O

I (3005 - 35S DE0D0W

Options :

1. % 130750

2. % 11 3°(¢Hod

3. ¢ 10805 I BOy®

4. % 1B 5°¢0

Question Number : 4 Question Id : 630680243881 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the Abel Prize?

I. This award is named after a Swedish mathematician

II. The 2023 Abel Prize was conferred on Argentine-American researcher Luis Caffarelli.
III. This award recognises pioneering scientific achievements in mathematics.

Options :

1. % Only I and II
2. % Only II and 11T
3. &% Only I

4. % 1,11 and III

Question Number : 4 Question Id : 630680243881 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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23S 2IVNBE H0D0H0D) &k (80 & (DEES HBIE?

I. &t 0D D IAN HeJeh T DSBS S EPS

I 2023 @S 2230606 ©030¢3°-e9OES HBITLHE PR SHBVOE 0D,
1L &8 B, S0 K357 D0 STGSEIE DAL D2305Ters KBNS,

Options :

1. % 108050 I X5°(eh a0

2. ¢ 11 B T S35

3. % I 3o ehad

4. % L 110805 III

Question Number : 5 Question Id : 630680243882 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct about Ales Bialiatski?
1. He was sentenced to 10 years in prison by a court in Belarus.
II. He won the Nobel Prize for Literature in 2022.

Options :

1. ¥ Only I

2. % Only II

3. % BothIand II
4. % Neither I nor I1

Question Number : 5 Question Id : 630680243882 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B8R OSTESY) (Ales Bialiatski) § 0200800 &2 (80 O (HDEES OBIE?
L. BerSRS 2.8 F ee8 10 0S5 o7e Bew 3. DOODOA.

IL 2022 &° 9658 Aereh 06 STZS 22:T0NB BeTHLZOT®) 5.

Options :

1. ¥ T S ebhad

2. % 11 S ehad

3. % 10805 I1 DOy

4. % 1S 11O 5°¢D

Question Number : 6 Question Id : 630680243883 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following countries in the correct order, starting from the country having won the maximum number of gold medals to the
country having won the minimum number of gold medals in the Olympic Winter Games in Beijing, 2022.

1. Australia

II. Austria

III. Norway

IV. Germany

Options :

1. & I-III-IV-1I
2. % II-IV-I-II
3. & IV-III-I-IT
4. ¥ 1I-IV-1I-1

Question Number : 6 Question Id : 630680243883 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

202265 DR0RS’ 2380 2.O0DE V0B B0 IS’ KON HOWES 220MPEd DedSTeD RN TF0 0SB §dQ
503’ 0TS DS FeNTNENS) BF0 SBZ0 (B0 BFer HB (5006 9508 0B.

L & ROaAST

1. &8 QOS>

1. 0°0 8

IV. 282

Options :

1. % LILIV-I
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2. & HI-IV-1-II
3. & IV-II-I-I
4. % MI-IV-1I-1

Question Number : 7 Question Id : 630680243884 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the name of the national portal for biotech researchers and start-up that was launched in May, 2022?
Options :

1. % BioSARP

2. % TechnoSARP

3. ¥ BioRRAP

4. % TechnoRRAP

Question Number : 7 Question Id : 630680243884 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2TBI TS HDOITCIZEN HBON FB-e9De> FBE T, 202265° (FS0D0TIDED 2730 S K JWEI?
Options :

1. % BioSARP

2. % TechnoSARP

3. ¥ BioRRAP

4. % TechnoRRAP

Question Number : 8 Question Id : 630680243885 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the SHRESHTA scheme that was launched by the Government of India?

1. This is a scheme for residential education for students in High school in Targeted Areas.

I1. This scheme was launched by the Union Ministry of Education in June 2022.

I1II. The students, belonging to marginalized income group within the Scheduled Castes community, can avail the benefits of this scheme
through a National Entrance Test for SHRESHTA (NETS).

Options :

1. % Only I and I1I
2. % Only II and 111
3. % Only III

4. % 1, T and III

Question Number : 8 Question Id : 630680243885 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

23755 92565 20 (SFB0EO0NDS (FR(SHRESHTA) HHSAE 50200500 &3 (80 (DRSS’ D& OBSE/D?
L 3O 05 FomOS &) TETOS ' AEsHOZ BRBRAOHS JEI§ FBE0 DSBS 2.8 DE0.
I &8 DO, 2378 202265 Bo|ES DTS S00(E3¢5 ¢ 7o (FPS0D0D0E.

1L 226859 H0e7e HONOS @& S0 STE ToAD emshen, (3 2o (3% SBE.(NETS) o s0° &
NGB0 ANEY (DA FPOLITNY.

Options :

1. ¥ T 08050 I S35

2. % 11 08050 I S5

3. % IS

4. % 1,11 808 I

Question Number : 9 Question Id : 630680243886 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the ‘One Nation, One Fertiliser’ scheme that launched by the Government of
India?

1. This scheme is implemented by the Union Ministry of Agriculture & Farmers Welfare.

II. This scheme introduces single brand for fertilizers and logo under Fertilizer Subsidy Scheme.

Options :
1. % OnlyI
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2. ¥ Only II
3. % BothIandIl
4. % Neither I nor II

Question Number : 9 Question Id : 630680243886 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

23585 (352965 50 (FS0DODS 28 BF0, 208 A’ DPTAE H020E0D) &8 (0B ¢3S DE HBIE?
L. &8 DAY, TOIE 53700 SO0 Behd NO0T.6 00365 ¢ F°P 950N TR OA.

1. 83 DHE0 AHE T°o0ed HEHEo 180CS DBDYS FBEL 28 (23708 DB STHD ©0ANOE.
Options :

1. % 13075

2. ¥ 11 S°(¢hodd

3. % 10805 I BOy

4. % 1 S 11 A 5°¢%0

Question Number : 10 Question Id : 630680243887 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Indian state launched the SAFAL (Simplified Application for Agricultural Loans) common credit portal for
farmers in October 20227

Options :

1. ¥ Odisha
2. % Gujarat
3. & Rajasthan
4. % Haryana

Question Number : 10 Question Id : 630680243887 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2rSSTFOS & T N0 Beded TS0 SAFAL (R0TDE RZAS HB eBEIES °9)) €0 BEE S
0§25 202265 (rS0D0DOE?

Options :

1. ¥ 2,87

2. % DTS

3. % 0P80

4. % PO

Question Number : 11 Question Id : 630680243888 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the India Justice Report 20227

1. As per the report, Karnataka secured the first position among 18 large States and mid-size states in delivery of justice.
I1. As per the report, Sikkim secured the first position among 7 small States in delivery of justice.

II1. As per the report, no state or union territory, except for Delhi and Goa, spends more than one per cent of its total annual expenditure
on judiciary.

Options :

1. % Only I and II

2. % Only II and 111

3. % Only III

4. % 1,1l and 11T

Question Number : 11 Question Id : 630680243888 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2022 3PS STF 0500 ASQEK H020E0D) &8 (80 [HDELSOES” I HBSE /D?

L Q3EE (D550, D50H0 90E0TIOES 18 0 T X SHBA5N 1¢5e535F TrlalOeS ET°¢E ncded oS
QOVOH.

1L QBEE 10550, T°5000 0BG 7 D&Y T°laFedsS’ 2830 Ided TS0 AOD0H.
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1L QRBEE (H5°50, BO 0BG e ST 0B [SS T°lA0 B Bo(SrOeh (0S50 S0 708 H5aHoeS’ 2,8
FEPA8 OD) TS0 D) TAHB0 S,

Options :

1. ¥ 1308050 11 857 ¢ ad

2. % 110800 M S35

3. % I o ebad

4. % 1,11 8 111

Question Number : 12 Question Id : 630680243889 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the SVAMITVA scheme that was launched by Prime Minister Narendra
Modi?

I. The scheme is a reformative step towards establishment of clear ownership of property in rural inhabited areas.

II. The Scheme is implemented with the collaborative efforts of the Ministry of Panchayati Raj, State Revenue Department, State
Panchayati Raj Department and Survey of India.

Options :

1. % OnlyI

2. % Only II

3. % Both [ and II
4. % Neither I nor IT

Question Number : 12 Question Id : 630680243889 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS S0(& SBOIS B (BrE0D0DS SVAMITVA B8 50200800 & (80 &7¢3S° D& OBISE /Q?

L. &2 HESHEO0 (PR Do (BFOTOES a3 DRV AIFBITs), DO 208 DO, BT 658 1563,

1L HOTTONEBT2S $H0(36h § 3o, %51 DRSS 7D, T°( o DOTFONT™2S 3° 0BA50 DT § €8 ROBAST HeFs*B0S
&8 HEE0 90N DONDR0D.

Options :

1. % 130°(ehad

2. % 11 30°(ehad

3. ¥ 10805 1T BOC®

4. % 1S 11 A 5°¢%0

Question Number : 13 Question Id : 630680243890 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which Union Ministry launched the Paalan 1000 National Campaign in India?
Options :

1. % Ministry of Road Transport and Highways

2. & Ministry of Rural Development

3. & Ministry of Housing and Urban Affairs

4. ¥ Ministry of Health and Family Welfare

Question Number : 13 Question Id : 630680243890 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2PESTIOS PO 1000 270 (DT, & TOIES D05 § F° (P BS0EDODOE?
Options :

1. % &Y Boed OO BSTTTBE S00(d6h § 7D

2. % ([TPDETD YD X00(&d¢h § 3o

3. % (93 QOO DEIED 9§3T°T°> SN0\ €365 § F°YD

4. ¢ &85 B0 B0n02) HOT D S00(E3¢ § F°

Question Number : 14 Question Id : 630680243891 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which Union Ministry has been appointed as the nodal ministry for online gaming in India?
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Options :
1. % Ministry of Electronics and Information Technology
2. % Ministry of Education
3. & Ministry of Science and Technology
4. % Ministry of Home Affairs

Question Number : 14 Question Id : 630680243891 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2r3HTF0S S SBS BN EBEY O TS O § T STS HOEeh ¢ TP AOVDOTIDEOE?
Options :

1. ¥ QO(TAE) 08N DTS APOTEE o00(d6 § TR

2. % DT°F NO|eIeh § T°PD

3. % DTTI0 BN JP0TBE 00| e36b § T

4. % 00 D533 T° SDO(e36¢5 ¢ B°Y

Question Number : 15 Question Id : 630680243892 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

Chipko Andolan was associated with which of the following?
Options :

1. & Water resources

2. % Fossil fuels

3. # Green revolution

4. ¥ Forest resources

Question Number : 15 Question Id : 630680243892 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

D), SOEES & 1808 e3¢5 BIE HoD0OODIE?
Options :

1. % Q3 ddSew

2. % PR YOHI°CN

3. % 3B VS0

4. ¥ @2 SSBEN

Question Number : 16 Question Id : 630680243893 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following material is non-biodegradable?
Options :

1. & Wood

2. & Paper

3. ¢ Glass

4. & Tea leaves

Question Number : 16 Question Id : 630680243893 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

531808 ¢3S 285 B3OS0 TOS DT0 DE?
Options :

1. % 38

2. % s°0%0

3. ¢ e

4. % €3 esBoen

Question Number : 17 Question Id : 630680243894 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Match the following in the context of Animal Kingdom.

I | Cyclostomata 1 | Hippocampus

IT | Chondrichthyes | 2 | Scoliodon

IIT | Osteichthyes 3 | Petromyzon

Options :

1. % I-1, 11-2, 11I-3
2. % 1-2,1I-1, III-3
3. & I-3,11-1, III-2
4. ¢ 1.3, 11-2, 11I-1

Question Number : 17 Question Id : 630680243894 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
220630 3“@;&550@6 & 806 PO RN

| Qggmw {Cyclostomata) | 1 ;’.Jﬂ&”f_)?oza.i}(Hippocampus}

I ?Qéfo {Chondrichthyes) 2 .‘Tgyécﬁﬂ:-b {Scoliodon)

M u?gg:a (Osteichthyes) 3 | o 0&S (Petromyzon)

Options :

1. & I-1, [I-2, II1-3
2. % 12, 1I-1, 113
3. & I-3,1I-1, 1I1-2
4.+ 1-3, 11-2, 11I-1

Question Number : 18 Question Id : 630680243895 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of Plant Kingdom, which of the following pairs is NOT correctly matched?
Options :

1. & Bryophytes — mosses

2. ¥ Gymnosperms — liverworts

3. @ Pteridophytes — ferns

4. % Angiosperms — Eucalyptus

Question Number : 18 Question Id : 630680243895 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

S98 T2 8 H0DOE0D &2 (80B ¢3S’ D DO 235G TIDHECD?
Options :

1. % (233 E ) — d°ceN (Bryophytes — mosses)

2. ¥ 8370382 - O585Qexn (Gymnosperms — liverworts)

3. % &6&8@53 — ) (Pteridophytes — ferns)

4. % OSrORIITR)D2) — APEDN (Angiosperms — Eucalyptus)

Question Number : 19 Question Id : 630680243896 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding animal tissues?

1. Blood is an epithelial tissue.

I1. Bone is a connective tissue.

III. Cartilage is a muscular tissue.

Options :
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1. % Onlyland I
2. % Only IT and III
3. % Only II

4. & [, [T and III

Question Number : 19 Question Id : 630680243896 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

23065 §eaereredEd HOV0E0D & (0B (HELIES DA/ HBIE /?
L. 80 2.8 DOOANS Eea230.

I1. o303 2,8 2208 892320 0.

11 89 ¢0e>Q) (Cartilage) @G FOGT© Ee92370.

Options :

1. % 1308050 1T S5°( ¢ ad

2. % 11080 M S5

3. ¢ 11 S add

4. % LI 08a% III

Question Number : 20 Question Id : 630680243897 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following diseases is spread through water?
Options :

1. % Cholera

2. % Tuberculosis

3. % Pneumonia

4. & Common cold

Question Number : 20 Question Id : 630680243897 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&2 (808 & 50 e & 5T° P EDNOE?
Options :

1. ¥ Soor

2. % SOV

3. % QERPAOS®

4. % P8 BEe2

Question Number : 21 Question Id : 630680243898 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct about a solution?
1. A solution is a homogeneous mixture of two or more substances.
II. The component of the solution that dissolves the other component in it is called the solute.

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. % Neither I nor II

Question Number : 21 Question Id : 630680243898 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

2.8 (S8 5020500 & 180 DI’ AE/Q DBSE /1Q?

L 2.8 (9690 @A BO B 00T DBV DT D230 [FaO.

L |60 28 650 08 HETR) S 8R0S BB A (7550 Q) 903D,

Options :
1. ¥ 1 3(ehad
2. % 11 3°(ehadd
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3. % 10O IL BOGF
4. % 1S 11 DA 50

Question Number : 22 Question Id : 630680243899 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following organ is NOT a part of the human respiratory system?
Options :

1. % Diaphragm

2. % Bronchi

3. & Trachea

4. ¥ Artery

Question Number : 22 Question Id : 630680243899 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

31808 e3¢5 &) 950N SIS BT 95399 2300 592
Options :

1. & &8 &S0

2. & FLO°STDEN

3. & FLO°Y0

4. ¢ Q0

Question Number : 23 Question Id : 630680243900 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following state of India is highly vulnerable to cyclones?
Options :

1. % Chhattisgarh

2. % Telangana

3. ¥ QOdisha

4. % Arunachal Pradesh

Question Number : 23 Question Id : 630680243900 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2PBHTFOS & |80 & T RO SBIFDOE D0y ST S S0E?
Options :

I % HSDVAE

2. % SOOME

3.¢¥ 37

4. % OBTSS (DT

Question Number : 24 Question Id : 630680243901 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following can be an effective method in minimising the effects of flood?
Options :

1. ¢ Construction of dams

2. % Terrace farming

3. # Rainwater harvesting

4. % Restricting the use of fertilisers

Question Number : 24 Question Id : 630680243901 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
S5BES D28 S$R0TICOSS 83 180 e3¢5 A (D275 H0S S HEIe3?
Options :
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1. ¥ 8389 QU0
2. % BB S5 ON0
3. % 58D A3 HodE e
4. % QBN S, DO TANEO

Question Number : 25 Question Id : 630680243902 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following part of India is a chronic drought affected area?
Options :

1. % Coastal areas of Tamil Nadu

2. % Deccan Plateau

3. ¥ Kutch area of Gujarat

4. % Arunachal Pradesh

Question Number : 25 Question Id : 630680243902 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2rBHTFOS & (80 |FoeeeeS BYSOE EB0Y (27N (P00 DE?
Options :

1. % SDFTCE B [FoTEN

2. % LS DHELTY

3. ¢ H207eS' S |ro%0o

4. % ORETNS (DTT

Question Number : 26 Question Id : 630680243903 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Acid rain is caused by which of the following?
Options :

1. ¢ Air pollution

2. % Water pollution

3. & Soil pollution

4. % Noise pollution

Question Number : 26 Question Id : 630680243903 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

31808 e3¢5’ B 560 ASTFIE 80 S0B50N0E?
Options :

1. ¥ & sPend o

2. % de3 sPenNgo

3. % [ NS0

4. % 3D NN 0

Question Number : 27 Question Id : 630680243904 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the ozone layer?

I. An ozone molecule contains three atoms of oxygen.

II. The ozone layer shields the surface of the earth from ultraviolet (UV) radiation from the Sun.
III. Chlorofluorocarbons cause the depletion of the ozone layer.

Options :

1. % Only I and II
2. % Only II and 111
3. % Only II

4.+ 1,11 and 111
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Question Number : 27 Question Id : 630680243904 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
5,5°S PS50 H020EHO0D &3 (80B e3¢S° DA HBIE /D?
I 208 &8N €9806Y) $305°¢80 €38 Y28 HBXTENYON DR S0ENOA.
IL 48% &8 SrB5G OB 5T 9BDOS oreh (UV) 8370 0 2570 TE) ed8Ser) SrcSHo8.
1L §ESFE 58)Sen 48" S § e85 S°Geasiaysaw.
Options :
1. % 108050 I X5°(¢h a0
2. % 11308050 I 83575 add
3. % 11 S0 ¢had
4. ¢ 1,11 HB8ASw 11

Question Number : 28 Question Id : 630680243905 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following groups contain only biodegradable materials?
Options :

1. % Fruits, paper, glass

2. ¥ Vegetable peels, paper, wood

3. # Vegetables, plastic, wood

4. % Fruits, tin, paper

Question Number : 28 Question Id : 630680243905 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

&3 1808 e3¢5 BHFEO0 TOSKD DT S5 EOB €55), DT E?
Options :

1. % HOY, °A0, e

2. ¥ 5r8mroHe Sew, %0, TE)

3. % S0°OraHen, TS, TE)

4. % HOY, $KS0, S°AB0

Question Number : 29 Question Id : 630680243906 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding greenhouse gases?
1. Greenhouse gases prevent the escape of heat from the Earth.
II. Carbon dioxide is a greenhouse gas.

Options :

1. % OnlyI

2. % Only IT

3. % Both I and II
4. % Neither I nor II

Question Number : 29 Question Id : 630680243906 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AS 55728 A0 B0 00200800 &2 (808 T3S D HBIE /Q?
L IBS 5725 57 051069)e0 255700 0 S AN IF9AS 5500 ABEIOW.
IL 23S SASrE)& 2.8 (NS 55 a0,

Options :

1. % T35

2. % 11 3°(¢Hod

3. ¥ 108050 1T B
4. % 1S 11 528

Question Number : 30 Question Id : 630680243907 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

The Government of India has instituted Amrita Devi Bishnoi National Award for which of the following?
Options :

1. & Rainwater harvesting

2. ¥ Wildlife Conservation

3. # Public sanitation and hygiene

4. & Disaster management

Question Number : 30 Question Id : 630680243907 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2335 925065 50 & (80O T3S’ B TS0 e9s9@ T DEFOD 230D B3 0°), dEIBD0E?
Options :

1. % 58 de3 HosE

2. ¢ 35 arened Q0B €

3. % (022 P8DEF0 QDB HODH25H

4. % DD JB §5°¢a

Question Number : 31 Question Id : 630680243908 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a visible indication of air pollution?
Options :

1. % Smog

2. #& Landslide

3. % Floods

4. & Deforestation

Question Number : 31 Question Id : 630680243908 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

531808 e3¢S° 2050 ST (DehsE. APTIS DE?
Options :

1. ¥ 00D

2. % $0CNOANEN DOADCHEL0

3. % S8

4. % @& AETFIOS

Question Number : 32 Question Id : 630680243909 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Harmful chemicals enter our bodies through which of the following?
Options :

1. ¥ Food chain

2. # Ozone depletion

3. % Greenhouse effect

4. % Rainwater harvesting

Question Number : 32 Question Id : 630680243909 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

31808 3e3¢S° B o S0° SFAEETS SO e 608 3850 8 (DS 00?
Options :

1. ¥ &85°0 300

2. % 6,55 Leoch

3. % (NS 58 (D230

4. % 38 D3 HoBE
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Question Number : 33 Question Id : 630680243910 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs is/are correctly matched regarding the Himalayan mountains?
I. Lesser Himalayas — Himachal
II. Inner Himalayas — Himadri

Options :

1. % OnlyI

2. % Only IT

3. % Both I and Il
4. % Neither I nor II

Question Number : 33 Question Id : 630680243910 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

SPRTOON DS TOE HDODOAOD & 180 ¢3S B/ DO 23¢5DETIDFON?
L Q) TSN - ST IO
I1. 0658 FPATOAITEN - oI

Options :

1. % 13075

2. % 11 3°(¢Hod

3. ¢ 10805 II BOy®
4. % 1B 11O 5°¢0

Question Number : 34 Question Id : 630680243911 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
Match the following tables of seasons and months regarding the Indian climate?

seasons Months
I | Vasanta 1 | January-February
I | Grishma 2 | March-April
III | Shishira 3 | May-June
Options :

1. % I-1,11-2, III-3
2. % 1-2,11-1, I1-3
3.9 12, 11-3, 11I-1
4. % 1-3,11-2, I1I-1

Question Number : 34 Question Id : 630680243911 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
2POH03) TEOCEFIS Howodod) S S0d ?.’Jegs@“ D dheanen Sudoin Do BeNcdods

ddoapHen Aoen
| | &%oeso 1| 20:00-2:00
I ﬁa’a&o 2 mﬁa—ﬁ)*@t‘f
I | 2960 3| e

Options :

1. & I-1, 1I-2, I1I-3
2. % 1-2,1I-1, I1I-3
3.9 12, 11-3, III-1
4. % 1-3, 11-2, I1I-1
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Question Number : 35 Question Id : 630680243912 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0
Correct Marks : 1 Wrong Marks : 0

Arrange the following types of forests in the correct order starting from those receiving the highest to lowest rainfall.
1. Tropical Deciduous Forests

II. Tropical Thorn Forests

II1. Tropical Evergreen Forests

Options :

1. & II-1I-1
2. ¥ 1I-1-11
3. % I-II-I0
4. % I-II1-11

Question Number : 35 Question Id : 630680243912 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2955 HE S0 DO 9550 SHGIS0 FOT 1006 &3 (806 €859 DB 1¥006S @S 0.
I. G500 ST S.) €9¢ssyen

1. 5o SNFY €9¢de)en

11, €552e300¢80> Hebed PO e9che)en

Options :

1. % II-11-1

2. ¥ NIL-I-1T

3. % I-II-11I

4. % I-III-IT

Question Number : 36 Question Id : 630680243913 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following peaks of the Himalayas in correct order starting from the highest to the lowest.
1. Nanda Devi

II. Kanchenjunga

III. Namcha Barwa

IV. Nanga Parbat

Options :

1. & II-III-TV-1
2. % II-IV-1-111
3. & I-TMI-1-1V
4. % II-IV-III-1

Question Number : 36 Question Id : 630680243913 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
53 (808 TAFOAIT® BET° O ©eHQE ABS FVT°® DO H30)I A (o FPT°® 18006 @008)08.
L S0 B

I1. oS8O

IM1. %)) 2°0°§

IV. SO DS

Options :

1. % IT-II1-TV-I

2. ¥ I-IV-I-1II

3. & I-I-I-IV

4. % 1-IV-I-I

Question Number : 37 Question Id : 630680243914 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following Indian states in correct order starting from the highest to the lowest percentage of urban population, as per census
2011.

1. Rajasthan

II. Manipur
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III. West Bengal
IV. Maharashtra
Options :

l. & TV-I- II-1I0
2. % IV-I-III-1I
3. & IV-II-I-1I
4. & TV-III-1I-1

Question Number : 37 Question Id : 630680243914 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
2011 B2 BEYO (DGO, &3 (80 27BBIAD TP 9550 TS0 HEED 23772 NOG 55 FH0 HEED
B2 5O (E0S @3)0A.
[ 08P

11 $03°0

111 H3)D orrd

IV. O30 Q

Options :

1. % IV-I- II-III

2. % IV-I-II-II

3. % IV-III-I-II

4. & TV-II-1-1

Question Number : 38 Question Id : 630680243915 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following Indian states in correct order starting from the highest to the lowest literacy rate, as per census 2011.
I. Mizoram

II. Rajasthan

III. Assam

IV. Bihar

Options :

1. & [-II-1TI-1V
2. ¥ I-1I-11-1V
3. & II-I-1II-1V
4. & II-II-I-IV

Question Number : 38 Question Id : 630680243915 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2011 B2 BEYO (HFE0 &3 (80 27BBHAD TP 9e55HE €08 To5¢5 BED OB e9e¢hse ) @95 T°I5eh Bew
18006 9:0508.

I &G0

II. O°23°Q

1. @°)O

IV. 356

Options :

1. % I-I-II-TV

2. ¥ LIV

3. % IV

4. % I-NI-I-IV

Question Number : 39 Question Id : 630680243916 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
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Match the following as per census 20117
I | Arunachal Pradesh | 1 | Lowest Population Density

II |Himachal Pradesh | 2 | Lowest Percentage Of Urban Population

I |Goa 3 | Highest Percentage Of Urban Population among States

Options :

1. ¥ 1-1, 11-2, 111-3
2. % 1-2,11-1, 1I1-3
3. &% I-1, 11-3, I11-2
4. % 1-3, 11-2, I1I-1

Question Number : 39 Question Id : 630680243916 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
201 Barer O5) 0 B5°00 € 300 PO BBD0S0C?

[ eotoErcyed ke | O B oo

n srarael DOE 2 egen DR REFT TS0

m | fdae 3 ey Tgﬂuﬁ Sy 0side Din 2T T
Options :

1. ¥ 1-1, 11-2, [1I-3
2. % 1-2,11-1, 1I-3
3. % I-1, 11-3, [II-2
4. % 13, 11-2, 11I-1

Question Number : 40 Question Id : 630680243917 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

As per Census 2011, which of the following pair of ‘State — Child sex ratio’ is NOT correctly matched?
Options :

1. & Kerala — 964

2. % Arunachal Pradesh — 972

3. % Haryana — 834

4. ¢ Himachal Pradesh — 957

Question Number : 40 Question Id : 630680243917 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2011 2372 B8 (D5°50, &2 (§0A & 'T7(R0 - DO Ao DA 236 OO 23¢5DBTIT0?
Options :

1. % SO - 964

2. % ©ORETNS (DT3P - 972

3. & O°0°5ed - 834

4. ¥ PSS (DTT - 957

Question Number : 41 Question Id : 630680243918 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following Indian states in correct order starting from the highest to the lowest producer of rice in 2021-22.
1. Punjab

II. West Bengal

III. Uttar Pradesh

Options :

1. % TI-111-1
2. & I-I-111
3. % MI-II-T
4. & III-1-1I
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Question Number : 41 Question Id : 630680243918 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
531808 2B T AFO 2021-2265 €9¢9 SO 58 E¢h )& TS TR0 OB 98550 58 €5eh 18 TS T° (R
1350065 @508 0.

L Hord

1. D) Borred

11 &5 (DTT

Options :

1. ¢ 1I-111-1

2. % I-I-111

3. % II-II-I

4. % 1111

Question Number : 42 Question Id : 630680243919 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following crops starting from those sown in the month of January to December in India.
I. Rabi

II. Kharif

III. Zaid

Options :

1. & II-I10-1
2. % II-I-111
3.9 1I-11-1
4. & III-1-11

Question Number : 42 Question Id : 630680243919 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

& %o& D0 27BHTBFOS 23590 T 0B 3028 SEZ 7°¢3Q DB (50065 0S8 0A.
LY

1. 26

L 38

Options :

1. & II-III-1

2. % II-I-1II

3. ¥ II-1I-1

4. % II-I-1I

Question Number : 43 Question Id : 630680243920 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the Atal Tunnel?
I. It is the longest Highway tunnel in the world.
II. It has been built by the National Highway Authority of India.

Options :

1. ¥ Only I

2. % Only II

3. % BothIand Il
4. % Neither I nor II

Question Number : 43 Question Id : 630680243920 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&S FEOMTIE H00H0D) &3 (808 T3S’ DA JBIE /1Q?
L A8 (DD0HOS @& PSR 37 FS0r0.

IL A 20D BFPEFH AT?269 DO ABL0V0E.

Options :

IS VR
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2. % 11 30°(ehad
3. 8% 10O 1L BOGF
4. % 1S I OA 0

Question Number : 44 Question Id : 630680243921 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following Chairpersons of the National Commission for Women in correct order starting from the first to the last since its
inception in 1992.
1. Poornima Advani
I1. Jayanti Patnaik
III. Rekha Sharma
IV. Girija Vyas
Options :

1. s I-IV-I-III

2. % [I-1-1V-1II

3. % IV-II-I-III

4. % T-I-TV-III

Question Number : 44 Question Id : 630680243921 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
199265° 27305 s e™ NS (B0 DOID)ES 0B &8 (B0 5 5E0 BNCES 0B DS EsvoeS’
€908 )08%.

L 35°03 et s

I1. 2300063 HeEr) AT

111 By $852

IV. A823° °§

Options :

1. & II-IV-I-111

2. ¢ I-I-IV-11I

3. &% IV-II-I-II0

4. % 1-II-IV-111

Question Number : 45 Question Id : 630680243922 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the Fundamental Rights enshrined in the Indian constitution?
1. Fundamental rights are protected and guaranteed by the constitution.
II. Government can put reasonable restrictions on the exercise of fundamental rights.

Options :

1. % OnlyI

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 45 Question Id : 630680243922 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

255 0720506 SFOCHNBTIDAS (PGS T2 OB H0D0S0D) &8 (0B ¢3S DA DBIE /Q?
L BrPAE 5780300 T°23°§050TS B8 0TI0TON OGN TN Qe S2TFON.

I (PR 528030 PSR (25065 §0 HarresdE 30 DO D0,

Options :

IR GERY

2. % 11 So°(ehad

3.9 10805 11 BOcsy

4. % 1S 11O 5°¢D

Question Number : 46 Question Id : 630680243923 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

Which of the following is/are regarded as the Fundamental duties of citizens as per the Indian constitution?
I. To value and preserve the rich heritage of our composite culture.

II. To develop the scientific temper, humanism and the spirit of inquiry and reform.

II1. To safeguard public property and to abjure violence.

Options :

1. % OnlyIand Il
2. % Only II and 111
3. % Only II

4.+ [, 1l and I

Question Number : 46 Question Id : 630680243923 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2385 To2S0NH0 (95°50 &3 (808 e3¢5 DD TEO (BFGHNE DNV HOHEF0TIDTTON?

L. 50 FD D0 Hed TNEY FF) PSOE° S8 D) 96§80 sDOAN 7¢I HOBE 05%0.

1L a’@)oﬁ) B98)H0, SrSSTCI0 S0BOIN DTTSED $DBAW D0 B H3°)8Q ©NNHL TANCO.
111 (D23° S 8,00 DB PODD (DedTrea sJ°8 8o Jo°EB0I0.

Options :

1. % 1308050 I X5°(¢had

2. % 11 08050 M S35

3. % 11 S ehad

4.+ I 11 805 III

Question Number : 47 Question Id : 630680243924 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following Commissions of India in the correct order of their establishment starting from the first to the last.
1. National Human Rights Commission

II. National Commission for Minorities

III. National Commission for Scheduled Tribes

Options :

1. & II-TII-1
2. ¥ I1-1-111
3. % MI-I-T
4. & I-11-1II

Question Number : 47 Question Id : 630680243924 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2rESTI0S’Q &2 (0B EDASD NS FD0DS T°Q DO DSBMT FDOTIDAN Q) (5006 €908 0A.
L 2305 7S 57805 EMAS

1L Dar8e3e) 257805 SIS

11 0¢85 Sifed erda EAS

Options :

1. % IL-III-I

2. ¥ [I-I-11I

3. % II-I-II

4. % L-II-III

Question Number : 48 Question Id : 630680243925 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following Presidents of India in the correct order of their appointment starting from the first to the last.
1. Giani Zail Singh

II. Dr. Zakir Husain

III. Dr. Shankar Dayal Sharma

IV. Dr. A.P.J. Abdul Kalam

Options :
1. II-1-111-1V
2. % II-I-TV-III
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3. & LII-III-IV
4. & [-II-IV-III

Question Number : 48 Question Id : 630680243925 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
%3 (808 2755 T RNSOX I AARDEBS 328 D0G DIBM AODWBIBS 8 (S0 03 )0A.
L AASE Z2S doh

1L 86 2586 S5U)S

11 &80 5085 HaAsrss 38

IV. 85 A.PJ. @20S Eero
Options :

1. I-I-1I-IV

2. % II-I-IV-III

3. &% [-I-II-IV

4. % I-II-IV-III

Question Number : 49 Question Id : 630680243926 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following provisions of the Indian Constitution in the increasing order of the serial number of articles at which they appear
in the Constitution of India.

1. Procedure for impeachment of the President

II. Special address by the President

III. Special procedure in respect of Money Bills

IV. Establishment and constitution of the Supreme Court

Options :

1. & II-I-ITI-IV
2. % II-I-I'V-III
3.9 [I-I-1IV
4. % [-II-I'V-III

Question Number : 49 Question Id : 630680243926 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

25 T7a5050° Q) & (0B Q0RO 2rdeh TrersorfocS ED0T e85S © (5 HowS (D5°E0 e8Tred
1350065 @008 )0A.

L O[3 8300 (DS

11 O° )& B3NEY (DB$E (Dd0Kk0

111 30 eNEL H00EO0D |HB$E VG50

V. S8 55 & 7SO0 7 080N DETdd0
Options :

1. % M-IV

2. % IL-I-IV-III

3. LILI-IV

4. % T-I-TV-IIT

Question Number : 50 Question Id : 630680243927 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is/are correct regarding the Supreme Court of India?
I. It can issue seven writs to protect the Fundamental Rights of the individual.
IL. It can move cases from any court to itself.

II1. It can transfer cases from one High Court to another.

Options :

1. % Onlyland II
2. % Only II and 111
3. % Only III

4. % I, 1l and III

Question Number : 50 Question Id : 630680243927 Option Shuffling : Yes Is Question Mandatory : No Calculator : None

21/64



19/06/2023, 11:20

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0
Correct Marks : 1 Wrong Marks : 0

28¢5 T 598 T LODT A8 D0220H0D) &2 (80O T3S’ DE/AD OB IE /Q?

L. 28 $58%56 |PPNE 2B 88 0N D) ABRID 2378 TWOLHEED.
I 2 TN QS T 0 o 8 830 )8 Ee .

1L 36 SO 2.8 TPFW D0 088 8 20 TAhke.

Options :

1. % 100050 I S5

2. ¢ 11 08050 T 8357 add

3. % 1T S(ad

4. % 1,11 HBASW III

Question Number : 51 Question Id : 630680243928 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is/are correct regarding the Governor of a state as per the Indian constitution?
1. Only Indian citizen above 45 years of age are eligible for appointment to this office.
II. Executive power of the State is vested in Governor.

Options :

1. % OnlyI

2. Only II

3. % BothIand Il
4. % Neither I nor II

Question Number : 51 Question Id : 630680243928 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2355 T2 050 [HFPB0 2.8 T3 1551550 H0220H0D & 180 7¢3¢S° A/ HBIE /D?
L 45 D DDA 2TGEB0D DEEN ST(H &8 ST DATNTIE eopen.

1. 558,880 T°(Q SPEAT 55778 9SG0 Herdd.

Options :

1. % 13575

S INVERY

3. % 1.080% I1 BOy®

4. % 1S 1O 55D

Question Number : 52 Question Id : 630680243929 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Indian state has two Houses known as legislative council and legislative assembly?
Options :

1. ®& Rajasthan

2. % West Bengal

3. # Gujarat

4. ¥ Maharashtra

Question Number : 52 Question Id : 630680243929 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&3 1808 O 2rEBOH T arS BRVEBS TS HOCN BEVES ©908) @ DeNSDT B D& EON G06?
Options :

l. % O°BJ°Q

2. % DB)N Bord

3. & HsoS

4. ¢ 307

Question Number : 53 Question Id : 630680243930 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
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Which of the following Constitutional amendment made the provisions relating to urban local government?
Options :

1. % 72"d amendment

2. % 73" amendment

3. ¢ 74™ amendment

4. % 75" amendment

Question Number : 53 Question Id : 630680243930 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&3 (808 e3¢5 & arSes Tes00 a3 HEED A (D2HE $A8 HO0OHODS A0S ErroBODNOE?
Options :

1. % 728 0389

2. % 730 QD8

3. ¥ 748 O3B

4. % 758 0989

Question Number : 54 Question Id : 630680243931 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Schedules of the Indian constitution provides for the powers, authority and responsibilities of Municipalities?
Options :

1. % Ninth

2. % Tenth

3. & Eleventh

4. ¥ Twelfth

Question Number : 54 Question Id : 630680243931 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

531808 & 238eh Toe501 TS SN JTFOE D QST DB 255 BENYS0E?
Options :

1 % SIS

2. % DA

3. 8 DAT0OES

4. % HJ) 088N

Question Number : 55 Question Id : 630680243932 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Article of the Indian constitution provides for the powers, authority and responsibilities of Panchayats?
Options :

1. & 243D

2. % 243E

3. % 243F

4.9 243G

Question Number : 55 Question Id : 630680243932 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&3 1808 &) 278eb Tre50l5 9HEB0 DOTOHE AT LOA 2G5 BeN)eAOE?
Options :

1. % 243D

2. % 243E

3. % 243F

4.+ 243G

23/64



19/06/2023, 11:20
Question Number : 56 Question Id : 630680243933 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Arrange the following events in the correct chronological order of their happening from the first to the last.
1. Simon Commission

II. Gandhi-Irwin Pact

III. Chauri Chaura violence

IV. Non-Cooperation movement

Options :

1. & I-IV-III-1I
2. & I-II-II-1V
3. % TV-I-III-IT
4. & TV-1II-I-11

Question Number : 56 Question Id : 630680243933 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
&5 1808 AT €9 H0ZFDODN SO (FSTPNB0 RBNIES DOG D8 €908 YO &.
L 200 AN (Simon Commission)
IL 0&-38 58 2,0)080

1L T8 F°o° 270

IV. S5O0 QU8B €350
Options :

1. & I-IV-III-II

2. & [-II-II-IV

3. % IV-I-II-1I

4. ¢ TV-III-1-11

Question Number : 57 Question Id : 630680243934 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the Brahmo Samaj?
I. It was founded by Rammohun Roy in Calcutta.
II. It maintained total distance from other religious practices.

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. % Neither I nor II

Question Number : 57 Question Id : 630680243934 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1295372 X2 HODOAOD & 180G ¢3S IA/ND JBIA /D?
L &R $05TS’ T RIS T°OD FDOTTED.

II. 28 @SS NSO STT°OH OO GOENOA.

Options :

IS VERY

2. % 11 So°(ehad

3. % 10805 11 Bocsy

4. % 1S 1O 520

Question Number : 58 Question Id : 630680243935 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pair of ‘reform initiative — social reformer’ is NOT correctly matched?
Options :

1. ¥ Satnami Movement — Narayan Guru

2. % Self Respect Movement — Periyar

3. & Satyashodhak Samaj — Jyotirao Phule

4. % Young Bengal Movement — Henry Derozio
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Question Number : 58 Question Id : 630680243935 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

& 1808 D008 13BN - 0N D0 Y 35S DA DB 2365 5°CN?
Options :

1. ¢ O Q) &C5e00 - DP0r00ED

2. % @570 €500 - DOASTD

3. % 0553°E D3res - SRS IS

4. % 050 BOTTPS &EIN0 - 27| BE R

Question Number : 59 Question Id : 630680243936 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
Match the following in the context of the Indian national movements?

I | Subhash Chandra Bose | 1 | Swaraj Party
II | Bhagat Singh 2 | Hindustan Socialist Republican Association
IIT | Motilal Nehru 3 | Indian National Army
Options :

1. % 1-1, 11-2, T1I-3
2. % 1.3, 11-2, 11I-1
3. % 12, II-1, 1I-3
4. % 1-1,11-3, 1112

Question Number : 59 Question Id : 630680243936 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2O 2S00 EGA00 BTECOTT & S08 O RBVCBE.

|| doarn cogdn 1| Aoed rQ

il | @0 o 2 ‘meQb.b T2bGH 80Hs5 eThabnd

N | rderd g | 3| 2o ardad pago (Indian National Army)
Options :

1. % I-1, 11-2, 1I-3
2. % 1.3, 11-2, I1I-1
3. % 1-2, 11-1, T1I-3
4. % 1-1,11-3, 1112

Question Number : 60 Question Id : 630680243937 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following acts in the correct chronological order of their happening from the first to the last.
1. Vernacular Press Act

II. Child Marriage Restraint Act

III. Rowlatt Act

Options :

1. & I-1II-1
2. &% II-I-1I1
3. [-II-11
4. % I-1I-1I1

Question Number : 60 Question Id : 630680243937 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
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BOA T @ DEIAS STOEXTDTE0 FHeES OB DIO8 0B )od.
. JT°) 30§00 (DR DO

IL 2§ Do ABEE 9o

1L 3¢ 580

Options :

1. % IL-III-I

2. % II-I-I11

3. ¢ L-II-1T

4. % I-II-111

Question Number : 61 Question Id : 630680243938 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who among the following Indian reformers is known for his famous statement "one caste, one religion, one god for mankind"?
Options :

1. & Ghasidas

2. % Periyar

3. # Jyotirao Phule

4. ¥ Narayana Guru

Question Number : 61 Question Id : 630680243938 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

53808 T30S "SrdT D8 28 500, 2.8 050, 28 TeHCh" €9 (DX 1DEESE IV TOAS 237G aD H0dyY
DIB?

Options :

1. % QPR

2. % 0D

3. % 8RO IS

4. ¥ oA DA

Question Number : 62 Question Id : 630680243939 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which year was the Arms Act passed in India?
Options :

1. % 1862

2. % 1868

3. % 1872

4.+ 1878

Question Number : 62 Question Id : 630680243939 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2PSESTI0S” AN B0 &) HOXSIS0S” SRFEOTIDB0E?
Options :

1. % 1862

2. % 1868

3. % 1872

4. ¥ 1878

Question Number : 63 Question Id : 630680243940 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The financial sector in India is regulated by which of the following body?
Options :

1. % Finance Commission

2. % Ministry of Finance

3. ¥ Reserve Bank of India (RBI)
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4. & Securities and Exchange Board of India (SEBI)

Question Number : 63 Question Id : 630680243940 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2BHTF0SQ 308 S0 & (80O & HOVT AOHO(EB0TIEISOE?
Options :

1. % PR A

2. % 808 0o\ § TP

3. v 8235 § 23508 &89 K0GOSy (RBI)

4. % V57830 ©0& N80k S0 esH R0AAST (SEBI)

Question Number : 64 Question Id : 630680243941 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Central Public Sector Enterprises is designated with the status of Maharatna?
Options :

1. % Shipping Corporation of India Limited

2. % Hindustan Petroleum Corporation Limited

3. & Oil India Limited

4. % Hindustan Copper Limited

Question Number : 64 Question Id : 630680243941 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

531808 e3¢5 & Bo(CS (9250855 30K DORNEY FSeh) T BD SDR0E?
Options :

1. % AD)YON FHBAS 8D VOGS W&

2. ¥ POOTS DETOAD0 58 BAS OTo&

3. % @aNO YOAAr OWBS

4. % OOTS 5200 OB

Question Number : 65 Question Id : 630680243942 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following is correct regarding the Goods and Services Tax (GST)?
Options :

1. & It replaced the corporation tax in India.

2. & It replaced the income tax in India.

3. # It introduced a unified indirect tax system in India.

4. & It came into effect from July 2015.

Question Number : 65 Question Id : 630680243942 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S50 SHBA5N VX D), (GST)E Ho0A0D) &2 (0B ¢3S DA DBIE /1Q?
Options :

1. % 3O FESTFOS' SFIBAS D010 258 To&.

2. % 3O PEBSTFOS’ 300N D) 258 T1oE.

3. ¥ 20 8B F0S” D8SYS ST HD), D), (DSFDE0A.

4. % 20 7S 2015 0D NSE SDYOE.

Question Number : 66 Question Id : 630680243943 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which year was the World Trade Organisation (WTO) founded?
Options :

1. % 1993
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2. % 1994

3.9 1995
4. % 1996

Question Number : 66 Question Id : 630680243943 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

N0 eS8 HO® (WTO) O D055 Y506 F0tsdB0E?
Options :

1. & 1993

2. % 1994

3. % 1995

4. % 1996

Question Number : 67 Question Id : 630680243944 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
Match the following in the context of Indian economy after independence?

I |Second Five year Plan | 1 | Garibi Hatao

IT | Fifth Five year Plan 2 | Liberalisation

III | Eighth Five year Plan 3 | Mahalanobis Plan

Options :

1. & I-1,11-2, 1I1-3
2. % 1-3,11-2, 11I-1
3. % [-2,11-1, I11-3
4.9 1.3, 1I-1, 11I-2

Question Number : 67 Question Id : 630680243944 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ﬁ“&@og?so ST 208 385 DDV Dowodod) S S0 TOD RBDCDOC?

| | Dot Doy Derds 1| (6D eSS

|| DD DoSOY DEFIS 2 | Hodson

| DD DHosdG Erds 3 | TOIDS DrEds

Options :

1. % I-1, 112, I1I-3
2. % 1-3,11-2, TTI-1
3. % I1-2,11-1, 1I1-3
4. 1.3, 11-1, 111-2

Question Number : 68 Question Id : 630680243945 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is correct regarding the Industrial Policy Resolution 1956?

Options :

1. % This resolution was approved by the then Finance Minister Dr. John Mathai.

2. % This resolution classified industries into five categories.

3. & This resolution was adopted in accordance with the goal that state should have no interference in the economy.
4.+ This resolution formed the basis of the Second Five Year Plan.

Question Number : 68 Question Id : 630680243945 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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1956 FBFNE 7S 3030 (Industrial Policy Resolution)§ 022080 &3 (808 ae3¢S° A OB /D?
Options :

1. % S8 BT @003 308 5008 TED 23S HTOD SVFEOTTE.

2. % S8 BTN0 DOFHOD 00 ST $O580D0E.

3. % @08 3539 TR B850 SOBEPHAT OTEIE 0DHHEIONT &t TS0 SRFEOIDEOL.

4. ¥ S BTN0 B0 D0tINE 10T DEZ esBorr ADD0A.

Question Number : 69 Question Id : 630680243946 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who was the first Chairperson of the Planning Commission?
Options :

1. % Jawahar Lal Nehru

2. % C.D. Deshmukh

3. & T.T. Krishnamachari

4. % Prasanta Chandra Mahalanobis

Question Number : 69 Question Id : 630680243946 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IDETDS® OO0 TBNEY BNLRNCEES TOIBIR DK?
Options :

1. ¥ 23355°0 e I

2. % C.D. 330D

3. % T.T. §9adrerd

4. % (D30 0[S NTOSDV

Question Number : 70 Question Id : 630680243947 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of ‘Person — Initiative’ is/are correctly matched in the context of Indian economy after independence?
I. M.S. Swaminathan — Green Revolution
I1. Prasanta Chandra Mahalanobis — Indian Statistical Institute

Options :

1. & OnlyI

2. % Only II

3. ¥ Both I and II
4. % Neither I nor 11

Question Number : 70 Question Id : 630680243947 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

& 1808 ‘%58 — 156’ BSOS S5 0(@ES05B0 23°8¢h e30F S5550ED HD0DOHOD DO HONF JOAS 23¢b IE?
M.S. LIRS - 57O D30

1932065 T30(C SDSFPOSDR - 2S00 TOPSS DO

Options :

1. % 1 30°(ehad

2. % 11 30°(ehad

3. ¥ 1080 11 Dok

4. % 1B 1O 520

Question Number : 71 Question Id : 630680243948 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Constitutional Amendment Acts was made for introducing reservation for the Other Backward Classes (OBCs)
in educational institutions including private educational institutions, whether aided or unaided by the State, other than the minority
educational institutions?

Options :
1. & The Constitution (Ninety-First Amendment) Act 2003
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2. % The Constitution (Ninety-Second Amendment) Act, 2003

3. ¥ The Constitution (Ninety Third Amendment) Act, 2005
4. % The Constitution (Ninety-Fourth Amendment) Act, 2006

Question Number : 71 Question Id : 630680243948 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

83 QN0 SHOE T3 DIFON0 FORIBIS) B FOS |2 ATy HOREE D3 25
SDEDAD SSHAE (OBC) 08 Dz HOXOES 828B LA (I3F L8 &2 (80 O T°a50 D58 50
NBHEHDB0E?

Options :

1. % O°2500 (S023-208005 038£) <50 2003

2. % 02500 (S0g3-80¢8) 0389) w5&0, 2003

3. ¢ OPa§00 (S023 03¢ 0ad89) w90, 2005

4. % O°2$0K (S 023-0°R S D3B9) &0, 2006

Question Number : 72 Question Id : 630680243949 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who was the Chairman of the First Backward Classes Commission?
Options :

1. & Jagjivan Ram

2. % Kaka Kalelkar

3. % B.P. Mandal

4. % Kanshi Ram

Question Number : 72 Question Id : 630680243949 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

R065¢3 BE2ES 55K EQNAN (First Backward Classes Commission) G30E) T3S0 a)ed0?
Options :

1. % 2058 oo

2. ¥ 55§86

3. % B.P. HOGS

4. % 5 T

Question Number : 73 Question Id : 630680243950 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Abolition of Untouchability is mentioned in which of the following Articles of the Indian Constitution?
Options :

1. % Article 15

2. % Article 16

3.+ Article 17

4. #% Article 18

Question Number : 73 Question Id : 630680243950 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

28¢5 Tres0N0S R &3 (808 & 955 S” ©90T°BS0 JEFIOS (DTV0TIDE0E?
Options :

1. & @O8G0 15

2. & @H8890 16

3. ¥ @H8890 17

4. % @850 18

Question Number : 74 Question Id : 630680243951 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Who wrote the book 'Stree Purush Tulana'?
Options :

1. % Pandita Ramabai

2. ¥ Tarabai Shinde

3. % Savitribai Phule

4. % Meera Kosambi

Question Number : 74 Question Id : 630680243951 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

1R HBD SIOD’ T HIFA) IS SDOTTE?
Options :

1. % 0GB Sdrerow

2. ¥ @0°rON D03

3. % D(BeTrON JE

4. % DO° §F0)

Question Number : 75 Question Id : 630680243952 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which river’s tributary Peddvagu flows through Telangana?
Options :

1. % Krishna

2. ¥ Godavari

3. #% Tungabhadra

4. % Narmada

Question Number : 75 Question Id : 630680243952 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

® O ANEY ENDIE AN DRI (Peddavagu) BOOMTED DO (DedaT DO E?
Options :

1. % 8yar

2. ¢ Fordd

3. % S0

4. % S8

Question Number : 76 Question Id : 630680243953 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are true about Kawal Tiger Reserve of Telangana?
a) Govt of India declared Kawal wildlife sanctuary as Tiger Reserve in 2012.
b) Kawal Tiger Reserve lies in the Rangareddy district of Telangana.

Options :

1.¥ Only a

2. % Onlyb

3. % Bothaand b
4. % Neitheranorb

Question Number : 76 Question Id : 630680243953 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BSOS S TKNO (Kawal Tiger) 8235 § HO0D &3 (80O e3¢5 DA HBIE?
a) 255 (925065 50 201265 52 SI5ETENE 92305 B0 TS 8235 e (D5e30D0E.
b) TS BNE 8235 § BOTLIS ' S0TPBG B°S’ G0,
Options :
1. ¥ a S°(¢hadd
2. % b (B
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3. % ao08a b BO®
4. % a5 BT b 5 D

Question Number : 77 Question Id : 630680243954 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct about the Physical geography of Telangana state?

a) Telangana is located on the Deccan Plateau and lies in the Southern region of India.

b) Important soils include red sandy loams, red loams with clay base along with very small patches of alluvial soils.
c) The state is bordered by Karnataka to the North.

Options :

1. % Onlya

2. % Only b

3. ¥ Bothaandb
4. % Bothbandc

Question Number : 77 Question Id : 630680243954 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

BOOME T 2T WS 2T D8 H0220H0D &5 (§0B ¢3S DA HBIE?

2) BOOMED 8 & DBZTAR DO 27EHTF0S' 58 6 [0S0’ &0od.
b) SNV O BE3 BENE 2,0(CH) SOV, TP DY), WSIFIOES 20EEIE SPGB J(SE3 2,0(CH) SOHED
&™), 0.

¢) o»f”@:)é & B0° OB ISP ET°¢E GOd.

Options :

l. & acﬁ?@é&

2. % b 3(had

3. % 2 DB b Dok

4. % b O c BOF

Question Number : 78 Question Id : 630680243955 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct about school education in Telangana as per Telangana state statistical abstract 2021?
a) Hyderabad district has the highest number of schools in the state.
b) Jayashankar district, has the lowest number of schools in the state.

Options :

1. % Onlya

2. % Onlyb

3.% Bothaandb
4. % Neitheranorb

Question Number : 78 Question Id : 630680243955 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOOME T HET°08 FT°0¥0 2021 (D50 B0 arE7°e> 3551 HOD0EO0D & [§0d ¢3S DD HBSD?
2) O°(RDOS’S 3T 236 965 S FEFEN Eao*) 0.

b) T (ROS'S BONF0EE B e9¢h5e> ) FPEFTOEN o) ON.

Options :

l. & a&ﬁ?’Léﬁ)

2. % b Sr(eded

3. % 2 08050 b DOy

4. % a5°Q S b 5 57

Question Number : 79 Question Id : 630680243956 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is a tank restoration and rejuvenation programme in the state of Telangana?
Options :
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1. ¥ Mission Kakatiya
2. % Mission Life

3. # Mission Bhagirathi
4. % Mission Basundhara

Question Number : 79 Question Id : 630680243956 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

531808 ¢3S’ BOOMe T RO 3508 HSBIDSED DO YSHBSS TS E00 DE?
Options :

1 ¥ IS 5ES0H

2. % A B

3. % A8 FHSY

4. % DA 220

Question Number : 80 Question Id : 630680243957 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the Ministry of New and Renewable Energy — state data, dated 31 March 2020, Telangana is ranked state of India in
terms of solar power capacity per unit area of land mass.

Options :

1. ¥ Second
2. % Fifth

3. % Seventh
4. % Ninth

Question Number : 80 Question Id : 630680243957 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

31 $53°8 2020 7°¢3 AR B &5 @08 BIrsenS I8 TR DSIPTE0 (HFE0, &reriocS ArdeS
T8 S DRSS NP0 DBOTT BOOMED TR0 aPSSTIOS 77508500 FoBOA.

Options :

1. ¥ BOCHS

2. % 90809

3. %

4 % SIS

Question Number : 81 Question Id : 630680243958 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct about the economy of Telangana?

a) The state ranks 6 in export preparedness (Z“d among landlocked states), according to NITI Aayog's Export Performance Index
Report 2020.

b) According to the India Residential Energy Survey 2020, conducted by the Council of Energy, Environment and Water (CEEW),
Telangana is one of the eight states in the country that has achieved 100% electrification in households.

Options :

1. & Onlya

2. % Bothaand b
3. % Neither anorb
4. % Onlyb

Question Number : 81 Question Id : 630680243958 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

B0 e0E H5399%) H0DOBOD & 10O ¢3S DE/D DBSE/D?

a) NITI €335 )e063 DA ArDE ABEE 2020 (DSSE0 D DO & T N0 655 TS0 &0
(25DBRNS TGOS’ 2:58).

) TS & D38, D T°S0ES ©0& T8 (CEEW) AE 5200 R0ACST BRAIBIOHS I OB ¢ 2020 (5050,
Hoe38 100% DCNAESE FEO0DS BIOS' AAWE T°lareeS Ser0rre 2.5¢3.
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Options :
1. & a&ﬁ?LéﬁJ
2. % 2 0805 b BOEY
3. % a5°) B b 5 5°¢0
4. % b3S

Question Number : 82 Question Id : 630680243959 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the second official language of Telangana?
Options :

1. & Tamil

2. % Malayalam

3. % Urdu

4. & English

Question Number : 82 Question Id : 630680243959 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&3 1808 J"é%ﬁ’j SBOOMTE) BNEY O OSEE 237 DE?
Options :

1. % SNFO

2. % OAFO

3. ¢ &Or

4. % esofio

Question Number : 83 Question Id : 630680243960 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Goreti Venkanna from Telangana, had bagged the Sahitya Akademi award for the year for his work Vallanki Taalam, a
compilation of poems.

Options :
1. & 2019
2. % 2020
3.9 2021
4. % 2022

Question Number : 83 Question Id : 630680243960 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOOME TOAS FFDE3 083 $ DB HOEDI0 ‘SD08 BF0’ BTISEL T 00565 Y506 eweds
9573000 )BT, @O0CNZTY .

Options :

1. & 2019

2. ® 2020

3.9 2021

4. % 2022

Question Number : 84 Question Id : 630680243961 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which city of Telangana will you find Hare Krishna Golden Temple?
Options :

1. ® Warangal

2. # Nalgonda

3. & Suryapet

4. ¥ Hyderabad
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Question Number : 84 Question Id : 630680243961 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SOOI & SHS0S ME 7B E9R FBS BoHS EDN0E?
Options :
1. # SSoKd
2. % S0
3. % Q0PSO
4. ¢ P Terd

Question Number : 85 Question Id : 630680243962 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which dynasty promoted the Perini Sivatandavam dance of Telangana ?
Options :

1. & Chola

2. ¥ Kakatiya

3. # Pandyas

4. % Sena

Question Number : 85 Question Id : 630680243962 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

® T°2330%0 B0med 8 TOAN OEF FITT0CH30 Sees)), (e Jar0oD0E?
Options :

1. % Sehen

2. ¢ SPES00eD

3. % POCSED

4. % VS

Question Number : 86 Question Id : 630680243963 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct about folk music of Telangana?
a) Oggukatha is a narration and dramatisation of various stories of Gods such as Mallana, Beerappa and Yellamma.
b) Veena is a stringed instrument used in Sarada Kala.

Options :

1. & Onlya

2. % Onlyb

3. # Neither a nor b
4. % Bothaandb

Question Number : 86 Question Id : 630680243963 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

SO 2573 DoATIE H00H0D &8 (0B ¢3S DA/ HBIE/D?

2) 2SR NSE WD, DB BTN D2 50¢3 DA TYF E© EDN0 HBAW 88 Gea.
b) DD NI T3S EFS EDTBrA0TIDT 2.8 35 TN $0.

Options :

1. & a&ﬁ?L@éS&

2. % b S

3. % a5 BO° b 5°Q 5°¢0

4. ¢ 2 0835 b BOCk®

Question Number : 87 Question Id : 630680243964 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct about the Ramappa temple?
a) The top of the Ramappa temple is made up of bricks that can float in water.
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b) There is statue of ‘Airavat’ outside the temple.
¢) Outside the main temple, there is a model of Ramappa Temple.
Options :
1. % Bothaandb
2. ¥ Both aand ¢
3. % Onlyb
4. % Bothbandc

Question Number : 87 Question Id : 630680243964 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks :

T30 BT, D000 &3 (B08 ¢3S DA/D HBIE/D?

2) T%0))) BIOON0 TBNEY D) De3eS SiOT aenierd 80w5.

b) BN TENNEO '0T°IS0"' WBNEY |0 &od.

¢) (G SO0 FENNE), TZN) BEOL ST GO,

Options :

1. % a 08350 b Bocky
2. % 2 08050 ¢ BOCR®
3. % b Sr(ded

4. % b DBAW c DO

Question Number : 88 Question Id : 630680243965 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

Match the list of authors in TIST-I to the names of their literary works in LIST II:

Sl No. LIST-I SINo. |LIST-II

A Somadeva Suri i Kavijanasryamu

B Sarvadeva ii Shivatatvasaram

C Malliya Rechana iii Adi Puranam

D Mallikarjuna Pandita iv Yashodhara-charita
Options :

1. & A-iv, B-i, C-iii, D-ii
2. % A-ii, B-iii, C-i, D-iv
3. ¥ A-iv, B-iii, C-i, D-ii
4. & A-iv, B-ii, C-i, D-iii

Question Number : 88 Question Id : 630680243965 Option Shuffling : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e - €570 oo rdmray rdre-11e5t D 06 .3'!"‘3.3?9:@15 GBS0 DOF 2DOS0C:

SR 0y ) - DD Doy e -l

A DN a0B e i SDRTPROIE0

B SIONAY ii 25 BEBGIC0

3 20D Fesed iii 236y FIT°EI0

D 5 Dodesrd | IV ¥ EC-cs0e
Options :

1. % A-iv, B-i, C-iii, D-ii
2. #% A-ii, B-iii, C-i, D-iv
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3. ¥ A-iv, B-iii, C-i, D-ii
4. & A-iv, B-ii, C-i, D-iii

Question Number : 89 Question Id : 630680243966 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct pair of heritage monuments and their location:
Options :

1. ¥ Thousand Pillar Temple—Hanmakonda

2. % Ramagiri Fort—Nagunur

3. & Kondagattu--Palampet

4. % Paigah Tombs--Hyderabad

Question Number : 89 Question Id : 630680243966 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

P00 EETTEN DO 3°¢3 P TNEY OB 25D H80H0&:
Options :

1. ¢ 300 Q025 N - FF0%

2. % 008 §%¢) - SH3TS

3. 8% TOGBHLY - OO0V

4. % M QedPGeN - 3NT2rE

Question Number : 90 Question Id : 630680243967 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the names of districts of Telangana according to largest to smallest in terms of area:
A) Mahbubnagar

B) Khammam

C) Nalgonda

D) Warangal

Options :

1. ¥ A-B-C-D
2. & B-C-D-A
3. & D-B-A-C
4. & C-A-D-B

Question Number : 90 Question Id : 630680243967 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
DAGS HEOT HORO BHOG EJNOM IVYeH Ke> BLOMPED BT B @08 )08:
A) P8 KO

B) 205020

C) S 0%

D) dB0KS

Options :

1. ¥ A-B-C-D

2. % B-C-D-A

3. % D-B-A-C

4. % C-A-D-B

Question Number : 91 Question Id : 630680243968 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct about agricultural produce in Telangana in 2020-21 as per Telangana Statistical Abstract
20217

a) Nearly one-third of the total chili production came from the Khammam district (32.4%).

b) A significant share of oilseed production came from the Bhadradri district, which contributed 33.6% to the total production.

c) Jagtial district alone accounted for 26.96% of the total onion production.

Options :
1. ¥ Bothaandb
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2. % Alla,band ¢
3. % Bothaandc
4. % Bothbandc

Question Number : 91 Question Id : 630680243968 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

BOOMED Pe3NES 25§ 2021 (DS°B0 2020-216° BOOMTEIES S5ITO Esed YO 000D & (80O
DELIS DE/D HBSE/D?

2) 0B MED €5 1B T Te) IPBOE) 2.8 SO WeN0 B (32.4%) O IDYOA.

b) SrSA0BE eres 18365 BN e 23T 2 0 IDYOB, A INB0 b )BS' 33.6% & S8 IB0A.
0) NS0 &GO &ed 1B’ 2,8y 2ATS B ST 26.96% Cseh ) TVOK.

Options :

1. ¥ 2 08050 b Bocke

2. % a,b 8w ¢ %93;

3. % a o080 ¢ BO&KF

4. % b DBAW ¢ BOLY

Question Number : 92 Question Id : 630680243969 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is /are correct about the Arogya Lakshmi Scheme of Telangana State?

a) The scheme was launched officially on January 1, 2015 by Chief Minister K Chandrashekar Rao.

b) Telangana government provides one nutritious meal every day to pregnant and lactating women and children below the age of six
through Anganwadi centres.

Options :

1. % Only a

2. % Onlyb

3.% Bothaandb
4. % Neitheranorb

Question Number : 92 Question Id : 630680243969 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0 O° R &8s ©82 HHE0 HBOD & 180 e3¢5 A HBIE?

a) S0W$00(e3 K T50(HFDDTY) &8 DPHSRY, 2015 2335338 185 @0HSEEOM |2PS08) 0T ™.

b) ©0BSTE BoETe G ST° BOOMTED 2065 0 BB)EMEN, 230N, SHOOW SBLE'S) DVOZL (DB 2
PRSI0, WORBF 0.

Options :

l. & a&ﬁY’LéfD

2. % b A

3. % 2 B3 b Bocke

4. % a5°Q S b 5 57

Question Number : 93 Question Id : 630680243970 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the list of Crops in LIST-I with District it is highest produced in LIST II (as per Telangana Statistical Abstract
2021):

SINo. | LIST-I SINo. | LIST-II

A Cereals i Warangal

B Millets ii Kamareddy

C Pulses iii Nalgonda

D Oilseeds v Bhadradri
Options :
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1. ¥ A-iii, B-i, C-ii, D-iv
2. & A-i, B-iii, C-ii, D-iv
3. % A-iii, B-i, C-iv, D-ii
4. & A-iii, B-iv, C-i, D-ii

Question Number : 93 Question Id : 630680243970 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FDT-165°D Dot DT FOT I1IS°D QST &S 30D 2grod 2BD0SE (BOOTTE (BP0 T30
2021 Hse00)

DD :boaJIS arddere-| Felebrs) K)OSDFS arddae -l
A Syorargen | DOorieS
B (':)ci)mﬂxj'*ém ii BP0 0G
£ BOYED il Do
0
D Ardfomen | IV FaTa A
Options :

1. ¢ A-iii, Bi, C-ii, D-iv
2. % A-i, B-iii, C-ii, D-iv
3. % A-iii, B-i, C-iv, D-ii
4. % A-iii, B-iv, C-i, D-ii

Question Number : 94 Question Id : 630680243971 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct pair of Scientific and Industrial Research Organisation and their location in Telangana:
Options :

1. ¥ CMRTechnical Education Society - Hyderabad

2. % Genome Foundation - Suryapet

3. % Institute for Development and Research In Banking Technology - Ranga Reddy

4. % S Nijalingappa Sugar Institute - Secunderabad

Question Number : 94 Question Id : 630680243971 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

BOOTPS' QO HOON FBF°E HOFIET HOQ HBAW ¢3 [FoTe OB 85 180S0R:
Options :

1. ¥ CMR B85S D538 e - 2rdorerd

2. % B DOBA - AFT°S 0

3. % QANETEE DB BIODIOE @0& 815 39S 2750800 Bty eed - Sorrdé

4. % S ABDOHED) KD ASVETSE - DEo|TEerd

Question Number : 95 Question Id : 630680243972 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the land utilisation pattern (highest to lowest) of Telangana in the year 2019-2020 as per Telangana statistical Abstract 2021:
A. Forest

B. Barren and Uncultivable

C. Land Put to Non-Agricultural Uses

D. Current Fallow Land

Options :

1. & B-C-A-D
2. % D-A-C-B
3. ¥ A-C-B-D
4. & C-B-D-A
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Question Number : 95 Question Id : 630680243972 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
BOOMED BEFOE PT0F0 2021 [HDSB0 2019-2020 H03¢5 IS0 BOMPen TINEY 253 DITITH ST (9653
0 0¢850 Es006S) 90380
A. @c8yen
B. 202330 6308305 &80 DAETE 25570
C. 353 rD0e5S DT FBEL edTTNOIT 2577
D. ()¢5 Dchd 2570
Options :
1. & B-C-A-D
2. % D-A-C-B
3.¥ A-C-B-D
4. % C-B-D-A

Question Number : 96 Question Id : 630680243973 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Telangana State Government established Telangana Minority Residential Educational Institutions Society (TMREIS) in the year

Options :
1. % 2014
2.9 2015
3. % 2017
4. % 2018

Question Number : 96 Question Id : 630680243973 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SOOME) T° (2925065 50 505635065 Ber0mred 0 0¢3 BLBIONS eFBIAIS BEVETTAS) F¢s
(TMREIS)Q J°00008.

Options :

1. % 2014

2.9 2015

3. & 2017

4. % 2018

Question Number : 97 Question Id : 630680243974 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true about the TASK scheme launched by the Telangana government?

a) TASK is a unique skill development initiative from IT, E&C Department aimed at improving the quality of graduates coming out of
colleges by imparting industry-grade skill sets.

b) TASK was started in 2018.

Options :

1. ¥ Only a

2. % Onlyb

3. % Bothaand b
4. % Neither anorb

Question Number : 97 Question Id : 630680243974 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

SOOMPE (32065 50 (FPS0DODS €N, 2080 D0D0EOD &t (0B ¢3S’ D HBIE?

2) DOF-T°00 JETFON 9OAONGB0 T°ST° EF°F° D DO DONEIZL 373 ) DEEICNE TEI§EHD DEHNDED
©& S0 IT, E&C D280 B8NS (D858 BYeT5e 0DS59B 576585570 TASK.

b) TASK, 2018¢5° S0 050B08.

Options :

1. ¥ a So(ehadd

2. % b Sr(eHed
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3. % a 0805 b Boy
4. % a5 B b 5 D

Question Number : 98 Question Id : 630680243975 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
and employees of the region rose up in an agitation demanding separate Telangana state in 1969.
Options :
1. & Farmers
2. ® Artisans
3. ¥ Students
4. % Lawyers

Question Number : 98 Question Id : 630680243975 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

196965 |08 BOOMTEF Tl BST0&% TP (03O S0BA5N EESHIEN €500 S ) .
Options :
1. % Bedoew

2. % S¥°sedden
3. ¢ Qesdden
4. % O°$ONICHEN

Question Number : 99 Question Id : 630680243976 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct about the history of Telangana?

a) The reference to ‘Asmaka’ Janapada, part of present Telangana, as one of the 16 Janapadas in ancient India point to the fact that there
existed an advanced stage of society in Telangana region.

b) Telangana had given rise to mighty empires and kingdoms like the Satavahanas, Vakatakas, Ikshvakus, Vishnukundins, Chalukyas,
Kakatiyas, Qutb Shahis and Asif Jahis.

Options :

1. % Onlya

2. % Onlyb

3. % Neither anorb
4.+ Bothaand b

Question Number : 99 Question Id : 630680243976 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOOME THB|ED HODO0AOD & 180G ¢3S A/ JBIA/IBID?

2) DS 2rESTIOS 16 2SI’ 2,5E3M (W ed BOTPEIS 23H0S ‘@arE’ 237 3N0 B0 (Br0s0eS’
¢S 53’ DAT230 GOTBE @) TATR). I TIPSO,

b) BHTETDEN, TEEZEN, BT LHVE, DEPZ0GEN, TPLLELEN, SESINEN, FoeseS aPare HOAD S5
2P 903 $8S0H T (55235 BN TN BDOMPES 3B IDOTTON.

Options :

1. % a Q°(¢hadd

2. % b e

3. % a5 B b 5°Q 5°¢0

4.9 20805 b Bo&ky

Question Number : 100 Question Id : 630680243977 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct about Kakatiyas that ruled the Telangana region?

a) Rudramadevi of the dynasty was the first ever woman ruler in the subcontinent.

b) They are known for their irrigation public works, sculpture and fire arts.

¢) In 1323, Delhi Sultanate laid seize on Warangal fort .

Options :

1. & Bothaandb
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2. % Bothbandc
3. % Bothaandc
4. % Alla,band ¢

Question Number : 100 Question Id : 630680243977 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

BOOTPET (0T, FOODN SEBAMOH H0DOE0D &2 (B0 ¢3S DE/AD DB IE/IBID?
2) GHPOBOS” BNEIBNCIES sIEPE® FOZT N T°2350F°E TOADS B(eNT.

b) 63785 QeSO (D23 D3N, B HEF O @A) EFDHEL (HIQ TWOAIIK.

0) 132365, B DTN SS0ES Ferndd BS0 TNED®) K.

Options :

1. % a o080 b BOckr

2. % b O ¢ By

3. 8% a o080 ¢ BOG

4. ¥ 2,5 O ¢ ©)

Question Number : 101 Question Id : 630680243978 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the chronological order (i.e. first to last) of the time that the given dynasties ruled Telangana region:
A. Qutbshahis

B. Asaf Jahis

C. Satavahanas

D. Kakatiyas

Options :

1. ¥ C-D-A-B
2. % A-B-C-D
3. & B-C-A-D
4. % D-A-C-B

Question Number : 101 Question Id : 630680243978 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SO0 (0T, T*O 0D SPOEITDIS0 (JNEES DO DIOE) QS F2E T 2850F°D @S0!
A. 30502 are

B. @09 2oyen

C. TSP 00

D. seEe3asnen

Options :

1. ¥ C-D-A-B

2. % A-B-C-D

3. % B-C-A-D

4. % D-A-C-B

Question Number : 102 Question Id : 630680243979 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the list of Ministers of Telangana’s first ever Council of Ministers (2014-2018) in LIST-I to the portfolio they
managed in 2014 ministry in LIST IT:

Sl No. | LIST-I Sl No. |LIST-II
A Kadiyam Srihari i Education
B Md Mohmood Ali | ii Revenue, Relief and Rehabilitation
C Etela Rajender iii Finance and Planning
D G Jagadish Reddy | iv Energy, SC Development
Options :
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1. ¥ A-i, B-ii, C-iii, D-iv
2. % A-ii, B-i, C-iii, D-iv
3. & A-i, B-ii, C-iv, D-iii
4. & A-i, B-iii, C-ii, D-iv

Question Number : 102 Question Id : 630680243979 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Do 165" Boorres 2HDVEB o) oD 2014-2018) Aws) ogrw DI dE 157D oo 2014 &°
DOEFODD 0eAB] T PG DOIFE 2806508

[<7e)) aeddee-| Sa addee |

;boa:;g ;boa:;g

A sAodo Frd i tlaly

B Md s0sa0rd €98 i ITPO0, EXFEVD0 SVOATL DT TI0

(B, 89S sdaty B:FDDENOD)

C Su30) T°Foc6 ii €388 SOOI P DS
D G b 08 v 38, SC DO
Options :

1. ¥ A-i, B-ii, C-iii, D-iv
2. % A-ii, B-i, C-iii, D-iv
3. & A-i, B-ii, C-iv, D-iii
4. & A-i, B-iii, C-ii, D-iv

Question Number : 103 Question Id : 630680243980 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the names of kings who ruled Telangana in chronological order (i.e. first to last):
A. Raja Maha Rajendra Varma

B. Keerthi Verma-I

C. Dhruva-I

D. Jagadeka Malla

Options :

1. % B-C-A-D
2. % D-C-A-B
3. % A-C-D-B
4. ¥ A-B-C-D

Question Number : 103 Question Id : 630680243980 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
B0 FO0DN T°22© O SPO(ZSTPDRSOM €9s08 )0 (RBNEHES DO DB SBEV):
A. T°23 05 T°B0(& 582

B. 88 $58-1

C. Q-1

D. BETE S0

Options :

1. # B-C-A-D

2. % D-C-A-B

3. % A-C-D-B

4. ¥ A-B-C-D

Question Number : 104 Question Id : 630680243981 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In 2022, Telangana government inaugurated new government medical colleges.
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Options :
l.& 5
2.8 7
3.8
4. % 10

Question Number : 104 Question Id : 630680243981 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

20225, B0 (e g0 ¢ (D205 § I8 EFT OO (PE0D0DV0A.
Options :

l. & 5

2.8 7

3.8

4. % 10

Question Number : 105 Question Id : 630680243982 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which mineral deposits are found in Bayyaram Reserve Forest of Telangana?
Options :

1. ¥ Iron Ore

2. % Coal

3. % Magnesium

4. % Bauxite

Question Number : 105 Question Id : 630680243982 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SOOI’ 2O5TS0 8235 § FBRES &) DA AT TN o) ON?
Options :

1. ¥ 9080 )

2. % 5D

3. % DAY A0Ho

4. % 2°3)O

Question Number : 106 Question Id : 630680243983 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct about Dropout rates in Telangana in 2019-2020?
a) The state achieved a near-zero overall drop-out rate in primary schools.
b) The dropout rate in the state in upper-primary schools was negligible, at 0.06%.

Options :

1. & Onlya

2. & Only b

3.¥ Bothaandb
4. % Neitheranorb

Question Number : 106 Question Id : 630680243983 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

2019-202065° BOOMTEIES D35 SPRVITE T HOOD &2 (80O T3S’ DE/A OB SE/BIN?
2) [PONE FETOS D35 APTVITO TS0 ) )8 TS,
b) TR0 [TCINE ) & ir"é?o@s DS STFRDISTE F°H0 93580703, ITBIT 0.06%.

Options :

1. % a Q°(¢hadd

2. % b XS

3. ¢ 2 08050 b DOy

4. % a5 S b 5 57D
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Question Number : 107 Question Id : 630680243984 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct about Industries in Telangana?

a. In September 2021, the state government launched second Information Communication Technology (ICT) policy.
b. In FY21, the Telangana State Industrial Infrastructure Corporation (TSIIC) developed 10 new industrial parks.

c. In March 2017, the State Government rolled out 10-year Electric Vehicle (EV) policy.

Options :

1. ¥ Bothaand b
2. % Bothaandc
3. % Bothbandc
4. % Alla,bandc

Question Number : 107 Question Id : 630680243984 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SO’ HOFHE HEO0D &2 (0B a7¢3S” DE/DR DBSE/IBI?

a. D025 202165, T3 92065 $0 BOd BOIBIAR Eurs TN Bs*Y 02 (ICT) DT, (FPS0D0D0E.

b. FY21&, 800 Qe 203 R00S ASEF(DE)0 SFIBAS (TSIIC) 10 §¢5 28708 a0 098590 TR0E.
c. 3308 201765, TR (52065 50 10 50351070 D88 BPES (EV) Dard)), SrroHOOL.

Options :

1. % 2 080%0 b Boch»

2. % 20805 ¢ BOL®

3. % b OO c Bochr

4. % a,b DB ¢ @i)g

Question Number : 108 Question Id : 630680243985 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the monthly allowance given to unemployed youth in Telangana under the TS Nirudyoga Bruthi Scheme?
Options :

1. & 1050

2. % 2025

3.9 3016

4. % 3500

Question Number : 108 Question Id : 630680243985 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

TS DEIESH 2398 HDHE0 80 ABIET KN A80I5B0 QI 52T IO 25550 DOEH?
Options :

1. & 1050

2. % 2025

3.9 3016

4. % 3500

Question Number : 109 Question Id : 630680243986 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who among the following has written ‘Jaya jayahe Telangana Jananni Jana Kethanam’?
Options :

1. % Kapilavai Lingamurthy

2. % Dasaradhi Rangacharya

3. ¥ Ande Sri

4. % Gummadi Vittal Rao

Question Number : 109 Question Id : 630680243986 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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31808 >BS ‘BAH BOK® BOOTE BIQ 2BOVEHI0’Q (TR0 DIB?
Options :

1. % 330N Ooidrd

2. % P3OB SomrTyrdy

3. v @033

4. % 08028 DS T°

Question Number : 110 Question Id : 630680243987 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who among the following commissioned the construction of a library filled with books on the arts and science, and sponsored poems
and texts, including the creation of the Mahanama, a history of the Deccan?

Options :

1. ¥ Mah Laga Bai Chanda
2. % Rani Avantibai

3. & Rani Durgawati

4. % Rani Chennamma

Question Number : 110 Question Id : 630680243987 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B82S TIB(5 “S05F63)’ 0 DR OTIRO e (P T3°23eh $ITT°5EN DTN 9P, EFEN 0B NS B8
022050DS YA Q0B (OTOASTY, B0 &3 (808 T8 IS (DBTE0TE?

Options :

1. ¢ 0SFr 23700 WHOo®

2. % O°E3 @950e323°0m

3. % O°63 TN

4. % O°3 TS0

Question Number : 111 Question Id : 630680243988 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.
All of us have responsibility to protect our home planet.

Options :
1.¥a

2. % an

3. % the

4. % No article

Question Number : 111 Question Id : 630680243988 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.
All of us have responsibility to protect our home planet.

Options :
1.¥a

2. % an

3. % the

4. % No article

Question Number : 112 Question Id : 630680243989 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blanks.
This project has come at time when many state governments and Union Government are working on providing cleaner
fuel options.

Options :
l. % an, a
2. % a,an
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3. ¥ the, the
4. % the, an

Question Number : 112 Question Id : 630680243989 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blanks.
This project has come at time when many state governments and Union Government are working on providing cleaner
fuel options.

Options :
l. % an,a
2. % a,an
3. ¥ the, the
4. % the, an

Question Number : 113 Question Id : 630680243990 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.
Vinay sighed and stepped away from her.

Options :

1. ¥ loudly

2. % loudest

3. & loud

4. % more louder

Question Number : 113 Question Id : 630680243990 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.
Vinay sighed and stepped away from her.

Options :

1. ¥ loudly

2. % loudest

3. & loud

4. % more louder

Question Number : 114 Question Id : 630680243991 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.
She began her message Dan a request to check his name and address.

Options :

1. & of, in
2. % to, with
3. % in, for
4. & for, by

Question Number : 114 Question Id : 630680243991 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.
She began her message Dan arequest to check his name and address.

Options :

1. & of, in
2. ¥ to, with
3. & in, for
4. & for, by

Question Number : 115 Question Id : 630680243992 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

From the four sentences given here, identify the sentence(s) with a grammatical error.
1. Mother, can I sleep with you?

I1. We raced to the bathroom together.

III. The dog is licking my feet.

IV. I am slow than I used to be.

Options :

1. % Only I andII

2. % Only IV

3. & Only II, IIT and IV
4. % AILLIL Il and IV

Question Number : 115 Question Id : 630680243992 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From the four sentences given here, identify the sentence(s) with a grammatical error.
1. Mother, can I sleep with you?

II. We raced to the bathroom together.

III. The dog is licking my feet.

IV. I am slow than I used to be.

Options :

1. % Onlyland II

2. % Only IV

3. % Only II, IIT and IV
4. % Al L II, I and IV

Question Number : 116 Question Id : 630680243993 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From the four sentences given here, identify the sentence(s) with a grammatical error.

1. She could not lie either on her face and on her side.

II. Tears begun to roll down her cheeks.

III. The investigation team still acquiring data from ground-based observatories around the world.
IV. Neha feels a deep sorrow welling up in her chest.

Options :

1. & Only II and III
2. % Only Il and IV
3. % Onlyland IV
4.4 Only I, Il and I1I

Question Number : 116 Question Id : 630680243993 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From the four sentences given here, identify the sentence(s) with a grammatical error.

I. She could not lie either on her face and on her side.

II. Tears begun to roll down her cheeks.

III. The investigation team still acquiring data from ground-based observatories around the world.
IV. Neha feels a deep sorrow welling up in her chest.

Options :

1. % Only IT and III
2. % Only IIT and IV
3. % Onlyland IV
4.+ Only I, 1T and III

Question Number : 117 Question Id : 630680243994 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the sentence with the correct usage of the simple present tense.
1. T am very grateful to you.
I1. She could have been a model.

Options :
1. ¥ Only I
2. % Only II
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3. % BothIandlIl
4. % Neither I nor II

Question Number : 117 Question Id : 630680243994 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the sentence with the correct usage of the simple present tense.
I. I am very grateful to you.
II. She could have been a model.

Options :

1. ¥ Only I

2. % Only I

3. % BothIandII
4. % Neither I nor II

Question Number : 118 Question Id : 630680243995 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the sentence with the correct usage of the future continuous tense.
1. They will be calling me in sometime.
II. How long would these mind games go on?

Options :

1. ¥ Only I

2. % Only II

3. % BothIand II
4. % Neither I nor I1

Question Number : 118 Question Id : 630680243995 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the sentence with the correct usage of the future continuous tense.
I. They will be calling me in sometime.
II. How long would these mind games go on?

Options :

1. ¥ Only I

2. % Only IT

3. % BothIand Il
4. % Neither I nor II

Question Number : 119 Question Id : 630680243996 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.
The parcel didn't arrive, ?

Options :

1. % haven’tit
2. % does it
3.9 did it

4. % hadn’tit

Question Number : 119 Question Id : 630680243996 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.
The parcel didn't arrive, ?

Options :

1. % haven’tit
2. % does it
3.9 did it

4. % hadn’tit
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Question Number : 120 Question Id : 630680243997 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.
None of those workers were thirsty, ?

Options :

1. & didn’t they
2. # wasn’t they
3. & will they
4. ¥ were they

Question Number : 120 Question Id : 630680243997 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.
None of those workers were thirsty, ?

Options :

1. & didn’t they
2. % wasn’t they
3. & will they
4. ¥ were they

Question Number : 121 Question Id : 630680243998 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that expresses the given sentence in passive voice.
He called a plumber to fix the pipe.

Options :

1. % A plumber is being called by him to fix the pipe.
2. % A plumber was called by him to fix the pipe.

3. ® A plumber is called to fix the pipe.

4. % A plumber has been called to fix the pipe.

Question Number : 121 Question Id : 630680243998 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that expresses the given sentence in passive voice.
He called a plumber to fix the pipe.

Options :

1. % A plumber is being called by him to fix the pipe.
2. % A plumber was called by him to fix the pipe.

3. #% A plumber is called to fix the pipe.

4. % A plumber has been called to fix the pipe.

Question Number : 122 Question Id : 630680243999 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that expresses the given sentence in active voice.
Has the shop been closed by them?

Options :

1. & Who closed the shop?

2. % Did they closed the shop?
3. ¥ Have they closed the shop?
4. % Has they closing the shop?

Question Number : 122 Question Id : 630680243999 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that expresses the given sentence in active voice.
Has the shop been closed by them?

Options :
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1. ® Who closed the shop?

2. % Did

3. ¥ Have they closed the shop?

4. % Has

Question Number : 123 Question Id : 630680244000 Option Shuffling : Yes Is Question Mandatory : No Calculator : None

they closed the shop?

they closing the shop?

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the idioms with their meanings.

Idioms Their meanings
I |Foam atthe mouth | | | Completely in love
II |Head over heels 2 | To be very angry
III | Hit the books 3 | To study hard
IV | Long in the tooth 4 | To be old
Options :

1. ¥ 12, 11-1, 111-3, TV-4
2. % I-1,11-3, 1112, TV-4
3. % 1-2, 11-3, -4, TV-1
4. % 1-4,11-3, II-1, TV-2

Question Number : 123 Question Id : 630680244000 Option Shuffling : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the idioms with their meanings.

Idioms

Their meanings

I | Foam at the mouth

1 | Completely in love

II | Head over heels

2 | To be very angry

III | Hit the books

3 | To study hard

IV | Long in the tooth

4 | To be old

Options :

1. ¥ 1-2, 1I-1, I1I-3, IV-4
2. % I-1, 11-3, 11I-2, [V-4
3. &% 1-2,11-3, TI1-4, TV-1
4. % 1-4, 11-3, 11I-1, IV-2

Question Number : 124 Question Id : 630680244001 Option Shuffling : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the idioms with their meanings.

Idioms Their meanings
I | No dice 1l | Out of danger
II | Off the hook 2 | To stop making noise
IIT | Pipe down 3 | Certainly not
IV | Tongue-in-cheek | 4 | Humorous and not meant seriously
Choose the correct option.
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Options :
1. % 1-2, 1I-1, T11-4, TV-3
2. % I-1, 11-4, 111-2, TV-3
3. ¥ 13, 11-1, 11I-2, IV-4
4. % 1-1, 11-4, 111-3, V-2

Question Number : 124 Question Id : 630680244001 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the idioms with their meanings.

Idioms Their meanings
I | Nodice L | Out of danger
II | Off the hook 2 | To stop making noise
III | Pipe down 3 | Certainly not
IV | Tongue-in-cheek | 4 | Humorous and not meant seriously

Choose the correct option.
Options :

1. & 1-2, 1I-1, 1I1-4, I'V-3

2. % I-1, 11-4, 111-2, TV-3

3. % [-3,1I-1, II-2, [V-4

4. % 1-1, 11-4, 111-3, TV-2

Question Number : 125 Question Id : 630680244002 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct pair/pairs of synonyms.
1. Severity : Rigidness

II. Estimate : Assess

II1. Boast : Discount

IV. Surge : Rise

Options :

1. &% Only I and 11
2.¥ Only I, Il and IV
3. & Only III

4. &% Only Il and IV

Question Number : 125 Question Id : 630680244002 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct pair/pairs of synonyms.
I. Severity : Rigidness

II. Estimate : Assess

II1. Boast : Discount

IV. Surge : Rise

Options :

1. % Only I and III
2.% Only [, Il and IV
3. & Only III

4. % Only Il and IV

Question Number : 126 Question Id : 630680244003 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct pair/pairs of ANTONYMS.
1. Conviction : Assurance
I1. Dupe : Deceive
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III. Clemency : Cruelty
IV. Mammoth : Monumental
Options :
1. % Only III
2. % Only I and II
3. % AL IL 1T and IV
4. % Only Tand IV

Question Number : 126 Question Id : 630680244003 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct pair/pairs of ANTONYMS.
I. Conviction : Assurance

II. Dupe : Deceive

III. Clemency : Cruelty

IV. Mammoth : Monumental

Options :

1. % Only III

2. % Onlyland II

3. % AILLIL I and IV
4. % Only Il and IV

Question Number : 127 Question Id : 630680244004 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the sentence(s) with no spelling errors.
I. It is constructed of tanned leather.
II. The doctor seemed tired and in a hurry.

Options :

1. & OnlyI

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 127 Question Id : 630680244004 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the sentence(s) with no spelling errors.
I. It is constructed of tanned leather.
II. The doctor seemed tired and in a hurry.

Options :

1. % OnlyI

2. % Only IT

3. % Both and II
4. % Neither I nor II

Question Number : 128 Question Id : 630680244005 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the sentence(s) with no spelling errors.
1. Bright, colourful, and fun ilustrations accompany the text.
II. T hope you find happiness and peace one day

Options :

1. % OnlyI

2. % Only II

3. % BothIandII
4. % Neither I nor II

Question Number : 128 Question Id : 630680244005 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the sentence(s) with no spelling errors.
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1. Bright, colourful, and fun ilustrations accompany the text.
II. T hope you find happiness and peace one day
Options :
1. % OnlyI
2. % Only II
3. % BothIand Il
4. % Neither I nor I

Question Number : 129 Question Id : 630680244006 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.
I had only one of water for taking a bath.

Options :
1. & peel
2. & peal
3. ¥ pail
4, % pale

Question Number : 129 Question Id : 630680244006 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.
I had only one of water for taking a bath.

Options :
1. & peel
2. % peal
3. ¥ pail
4. & pale

Question Number : 130 Question Id : 630680244007 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.
Previously, the pearl was employed as bait in the Aberdeen cod fishery.

Options :

1. % mussel
2. % muscle
3. % miniscule
4. % muzzle

Question Number : 130 Question Id : 630680244007 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.
Previously, the pearl was employed as bait in the Aberdeen cod fishery.

Options :

1. ¥ mussel
2. % muscle
3. % miniscule
4. % muzzle

Question Number : 131 Question Id : 630680244008 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

6 peoples P1, P2, P3, P4, PS5 and P6 are sitting around a circular table. All are facing centre. P1 is sitting between P3 and P6. P2 is sitting
next to left of P6. P4 cannot sit next to P3. Which of the following statement is correct?

1. P2 sits next to right of P4.

II. P3 sits next to left of P5.

Options :

l. % OnlyI
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2. % OnlyII

3. % Both [ and II
4. % Neither I nor II

Question Number : 131 Question Id : 630680244008 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

P1, P2, P3, P4, P5 308050 P6 @90 6 800 635500 639857 20 T0EW® H5°E0 )3°) &0. @90 ET BO(G3°8)0OrT
BP0 ) ), E0. P3 08050 P6 © o035 P1 8570 )7, 80. P6 § Chede35) D83 P2 E0rB0 w0 &0. P3 D3 P4 §58 Y S,
&3 1808 & (DB HOTBIE?

L P48 503 Z ) NDEYS P2 50 )mom) &o.

I1. P58 ¢80 Jad) D83 P3 S50 ymom) 8.

Options :

1. % 1 30°(ehad

2. % 11 3°(ehad

3. ¢ 10805 11 Bockr

4. % 1520 S 11 5°Q D& 520

Question Number : 132 Question Id : 630680244009 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

5 persons A, B, C, D and E are standing in a line facing east. A and B occupy end positions. D is 21 6 the right of A. A and E cannot
stand together. Who stands at second position when seen north to south?

Options :

1.« B

2. % E

3.8 D

4. ¥ C

Question Number : 132 Question Id : 630680244009 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A, B, C, D 08050 E @ 5 MHXSD S50 208 SO ¢55°¢50) @98)s5000M deredd &) 3. A SHOO B e DS
FOS OVTH. A & BB 285 TS0 D &) . A BN E e O doradd BK. eredd0 Hod S8
EFE0 TR )8 BOCEHS D06 DS deradd o) B50?

Options :

1. B

2. % E

3.8 D

4.¥C

Question Number : 133 Question Id : 630680244010 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

There are 36 students standing in a row. Raman’s rank is 15t

from start. What is his rank from end of the row?
Options :

1.9¥ 22

2. % 21

3.8 23

4. % 20

Question Number : 133 Question Id : 630680244010 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

36 5008 TSN 28 SBHIES” DB &)K. TS TNEY T°5080 e HOD 1565 T*050. KD DX Hod
e T°S050 D0e5?

Options :

1. ¥ 22

2.8 21
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3.8 23
4. % 20

Question Number : 134 Question Id : 630680244011 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If today is Sunday, then what day will it be after 58 days?
Options :

1. & Monday

2. ¥ Tuesday

3. @ Saturday

4. % Friday

Question Number : 134 Question Id : 630680244011 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2.53¢ 882> QB0 WONISVS, 58 Tered) $T°5ed 3,) T QeS?
Options :

1. & QB0

2. ¥ oNFE0

3. 8 QB0

4. % HEIG0

Question Number : 135 Question Id : 630680244012 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which day of the week it was on 315 July 2010?
Options :

1. & Thursday

2. % Friday

3. ¥ Saturday

4. % Sunday

Question Number : 135 Question Id : 630680244012 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
31 2576 2010 B0 & Faz?
Options :

1. & H&od0

2. # DEIS0

3. ¥ 3Q°80

4. 8 8OIB0

Question Number : 136 Question Id : 630680244013 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given
statements to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:

I. All pink are green.

II. All green are blue.

III. Some pink are yellow.

Conclusions:

1. Some yellow are green.

II. Some pink are green.

Options :

1. & Only conclusion I follow

2. % Only conclusion II follow

3. ¥ Both conclusion I and II follows
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4. % Neither conclusion I nor II follows

Question Number : 136 Question Id : 630680244013 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AN [DEEISEN BTN BT IS t9CIH0G. (HELSOES’ B 2GS HDXFTTE0 TS0 BOVS
TATOE D)0 EINDODSNYE3E 3°¢3Q ABTHIR 270D D) BTRTOS D (DELID &6 o
9 0DBNOE /T3> AYON0H0E.

& en:

L Herd) Sorhen @) H9) Sorhex.

IL HT5) Bothen @) O Sorex.

11 §) Herd) SorHen HSY Sorew.

ST

L 502 D) Borhen D) Sorbdew.

IL §) Herd) Somhen He5) Soe.

Options :

1. % 0350 [ 57533 9:0OBR0E.

2. % BTYS0 I 3755 I8N0,

3. ¥ 150805 I BOC ST @008 om.

4. % SO0 5 B 11 5°Q D e DIB0TH.

Question Number : 137 Question Id : 630680244014 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Cup White

A
"

Plastic

Arrange the following in the increasing order of their numbers.
I. White cups

IT. White plastics

III. Plastic cups

Options :

l.® LILII

2. % I, 1L 11

3. 0L L T

4. & IL LI

Question Number : 137 Question Id : 630680244014 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sy

808 TOD O Do esBamd o’ €500y 0C
| @enan SK):]EL‘I

Il. Bewsy RS

1. 8 sDyen
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Options :
1. & LIIL I
2. % I 11,111
3. IL 1L 1
4. % IL 1,111

Question Number : 138 Question Id : 630680244015 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Considered the following array of letters and symbols.
A@B#A*%&AB&C*% D@
How many symbols are followed by a symbol and preceded by a letter?

Options :
1.¥2
2.8 3
3.8 0
4. 81

Question Number : 138 Question Id : 630680244015 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0& @& T7en OO DIE) © (B3 HBKSod0B.
A@QB#A*%&AB&C*%D @

Q) ST 55 208 LT o0 DB TP 00D 208 €8 Bad K DI €0 ) ?
Options :

1.¥2

2.8 3

3.8 0

4. % 1

Question Number : 139 Question Id : 630680244016 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

6 books are kept one over the other. B1 is kept at the bottom. No other book is kept above B6. 2 books are kept between B2 and B5. B3
is kept above B4. Which book is kept at 3rd place from top?

Options :

1. ¥ B3

2. % B4

3. % B6

4. &% BS

Question Number : 139 Question Id : 630680244016 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

6 DT 2,8V R 2.8¢3 &0, Bl Q BN G037, B6 2 & Q5S YO G0N0, B2 O B5 ©
S35 2 DN GOTPE. B4 D B3 Q GO, 2 0 385 X0 &) YRS, G0TS?

Options :

1. ¥ B3

2. % B4

3. % B6

4. % B5

Question Number : 140 Question Id : 630680244017 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Marks of 6 students S1, S2, S3, S4, S5 and S6 are compared. All the students have different marks. Marks of S1 are more than exactly 3
people. Marks of S2 are less than only 1 person. S3 and S4 neither have highest nor lowest marks. Which of the following possibly can
be the correct order (maximum to minimum) of their marks?

Options :
1. % S4,S2,S6, S1, S3, S5
2. % S2,S1, S3, S4, S5, S6
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3. & S3,S2,S1, S5, S4, S6
4. ¥ S5,82, S1, S3, S4, S6

Question Number : 140 Question Id : 630680244017 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S1, S2, S3, S4, S5 DB S6 € 6 DO NT°NE K3rE0EEN e YT ON. DTTFEOIET ST §E0 3378509 e
SPOTTR. ST X3TPE2ED QBT 3 DO FOT B0, 2 357800 16958 0T 555330 %09.89. S3 DOASW S4 B0
2955 HE X020 SR BT 96550 S03 ) SR T, 88 (808 D025’ a8 380> B3NEY DB (E00
(580 OG EQQO0 SBEV) DA 5230 )?

Options :

1. % S4,S2,S6,S1, S3, S5

2. % S2,S1,S3, 4, S5, S6

3. % S3,S2,S1, S5, S4, S6

4. 85,82, S1, S3, 4, S6

Question Number : 141 Question Id : 630680244018 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a certain coding language ‘RATES’ is coded as ‘TYVCU’. Match the following words with their codes on basis of
the above coded language.

Word Code
I FIRST 1 EMWIF
I COULD 2 RPQQV
IIT1 | PROST 3 HGTQV

Options :

1.+ -3, 11-1, 11I-2
2. % 1-3, 11-2, 11I-1
3. % I1-2,11-1, 1I1-3
4. % 1-2, 11-3, 11I-1

Question Number : 141 Question Id : 630680244018 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

28 D83 E'¢oh arne® RATES' D 'TYVCU'T™ BE Swd. o D)) & a esme6ore & 306 Hrrosn o ECod
2BD0B0E. -

D50 g
| FIRST 1 |EMWIF
Il | COULD 2 | RPQQV
i | PROST 3 | HGTQV
Options :
1. ¥ 13, II-1, I1I-2

2. % 1-3,11-2, I1I-1
3. % 1-2, 11-1, I1I-3
4. % 1-2,11-3, I1I-1

Question Number : 142 Question Id : 630680244019 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a certain coding language ‘STRONG’ is coded as ‘HGILMT’. Which of the following pair of Word : Code is correct on basis of the
above code language?

Options :
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1. % HINGED : WVTNSR
2. ¥ CROWNS : XILDMH
3. % PAVERD : KZEFSE
4. % BROWSE : CQPVTD

Question Number : 142 Question Id : 630680244019 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2,8 Q0 FA0A 237265 'STRONG' @908 HGILMTTT §& TaHzaB08. 2 §& 27 eserdorr (8§08 H&0 : §&
BSOS IO HB?

Options :

1. & HINGED : WVTNSR

2. ¥ CROWNS : XILDMH

3. & PAVERD : KZEFSE

4. & BROWSE : CQPVTD

Question Number : 143 Question Id : 630680244020 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Rama is facing north. He turns 6 times right and 7 times left. Which direction is he facing now?
Options :

1. % North

2. & South

3. &% East

4. ¥ West

Question Number : 143 Question Id : 630680244020 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T G BT SNPOMT ) ¢, €985 6 P F0G DBV DO 7 P DB B)F0 3B, €985 VI
&3 denthr) ¢?

Options :

1. % &80

2. % S8 0

3. & &)

4.9 DN

Question Number : 144 Question Id : 630680244021 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question, a group of letter clusters is given. The letter clusters of each group are related with the letter clusters of the
same group by some Logic/Rule/Relation. From the given alternatives, select a group of letter clusters which follows the same
Logic/Rule/Relation as the given group of letter clusters.

(TSP, VVT, XYX)

Options :

1. ¥ (NAR, PDV, RGZ)

2. % (SED, UHH, WKM)
3. % (BIL, DKP, FOT)

4. & (PUR, QVS, RWT)

Question Number : 144 Question Id : 630680244021 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BOB (D¥YO, @08 & XT3 eh DTN RedSDB0. 1D D0 T, @8 8- Dedrdyeren Q) 8y 50/
Q0350532/2)03E T3 ST° @T3 €9%.85- D3TrNgereed D020, EOR GOLTON. VSRS (HE5edr) OSTed

R0A, @& 8- DITSYT S €T3 66330/ 06150/Q0 R I @NNBOT @& 8- DT JOTHTOR.
(TSP, VVT, XYX)

Options :
1. ¥ (NAR, PDV, RGZ)
2. % (SED, UHH, WKM)
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3. % (BIL, DKP, FOT)
4. % (PUR, QVS, RWT)

Question Number : 145 Question Id : 630680244022 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Words given on the left side of (::) are related with each other by some Logic/Rule/Relation. Select the missing word/word pair on the
right side of (::) from the given alternatives based on the same Logic/Rule/Relation.
Glass : Drink :: ?

Options :

1. & Pencil : Stationery

2. % Pen : Writing

3. % Television : Coloured
4. % Car : Four Wheeler
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The question given below has a question and two statements. Choose the correct option on basis of the question and statements.
What is the relation of P with Q?

I. P is the father of T and U.

II. U is the brother of Q.

Options :

1. & The question can be answered by using one of the statements alone but cannot be answered by using the other statement alone.
2. % The question can be answered by using either of the statement I or II alone.

3. % The question can be answered by using both the statements together but not by either statement alone.

4. % The question cannot be answered by even by using both the statements together.
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The given below is a question and two statements. Choose the correct option on basis of the question and statements.
Question:

What is the value of x?

Statements:

Lx2-8x+16=0

ILx?—6x+12=0

Options :

1. % The question can be answered by using statements I alone but cannot be answered by using statement 11 alone.
2. % The question can be answered by using either of the statement I or IT alone.

3. # The question can be answered by using both the statements together but not by either statement alone.

4. # The question cannot be answered by even by using both the statements together.
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In the question given below, a statement is followed by two courses of action (A and B). Based on the information given in the
statement, you have to assume everything in the statement to be true. Identify which course(s) of action logically follows.
Statement: During the rainy season all the pot holes of the city overflow.

Courses of action:

1. People should not go out in rainy season.

I1. Municipal council of city should make bridges in the city.

Options :

1. % Only I

2. & Only II

3. % BothIand Il
4. ¢ Neither I nor II
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The table given below shows the marks obtained by 3 students in five subjects. The maximum marks of each subject is
200.

Subjects Rohit | Ajit | Rahul
Physics 160 170 | 150
Chemistry 110 90 169
Maths 185 172 | 180
English 120 165 | 168
Hindi 189 120 |90

Which of the following is the correct order of the average marks per student in each subject?
Options :
1. ¥ Maths> Physics > English > Hindi > Chemistry
2. % Maths> Physics > Hindi > English >Chemisty
3. % Maths> Physics > English > Chemistry > Hindi
4. & Maths> Chemistry > Hindi > Physics > English
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The table given below shows the selling price and cost price of five different articles.

Cost Price | Selling Price
A 150 180
B 240 300
C 90 120
D 700 1100
E 900 1050
Profit Percent — Sellng Price—Cost Price 100

Cost Price

In which of the following options the profit percentage is given in the decreasing order?
Options :

1.« A >D>B>A>E

2.8 D>A>C>B>E

3.3 9D>C>B>A>E

4. % D>C>A>B>E
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Options :
. A>SD>B>A>E
2.8 D>A>C>B>E
3. 9D>C>B>A>E
4. % D>C>A>B>E

64/64



